Bonfiglioli

Tecnoingranaggi

TR series

Low-backlash gearboxes

&) Bonfiglioli

power, control and green solutions






SUMMARY

1 General INFOIMAION ... et h et s bttt e nh e e bttt e e bt e bt e bt e nbeenteeeneeteen 3
1.1 Symbols, units and defiNItIONS ........c..eiiiiiiii et s e et e et e e e e e e te e e ane e e eb e ne e e et e e ebeeenneeeenneas 3

1.2 SeleCting the GEAI UNIL .......oiiiii ettt et e b e e s bt e et e e sab e e s b e e e b e e be e e s teeeeeas 4

1.3 Service life OF DEAMNNGS ......coo ittt e e e e br e s e e e 6

2 Features Of TR SEIIES ........oooiiiiiiie ettt e a ettt ettt e b et e e et e e be e e e as e e et e e et e e e e et e e e abeeeeneeeeareeeneeas 8
3 OrAErING COUE ...ttt ettt e e ettt e he oo bt e e bt e ek et eeat et e he e e ab e e e R e e e e h et e e se et e be e e nen e e e e e enee e 10
3.1 Version and INPUL SECHION ...ttt e e e e e e b e e et e et e e be e e s e e e naneeeenneeas "

3.2 MOUNLING POSITIONS ...ttt ettt ettt e e et e et e et e e bt e h et e e et e e e bs e e ek e e et e e be e e e st e e e aae e e eaeeeeateeennnean "

4 Admissible radial and thrust forces for MB VErsion ... e 11
5 Dimensions and technical SPeCIfiCations ..o 12
LIS TSSO PR PP 12

LIS OO U USSP PP 16

TRIOBO ettt E e E R e R R e R e R e e e e R e Rt Rt bt e e R et ne e e e re s 20

LIS TSSOSO P PP 26

LI S0 LS U TS O R TR PP 32

TR B0 et R E R e R R e R e Rt e e e R e Rt e Rttt e e e e Rt ne et e nneere e enes 38

TR MO0 et E R R e SRR R e R e R Rt e e e R e R e R e Rt e e e e R Rt ne e n e nn e n e enes 44

Revisions

Refer to page 46 for the catalogue revision index.
Visit www.bonfiglioli.com to search for catalogues with up-to-date revisions.

@ Bonfiglioli

Tecnoingranaggi



@ Bonfiglioli

Tecnoingranaggi



1 GENERAL INFORMATION
1.1  SYMBOLS, UNITS AND DEFINITIONS

Values depending on the APPLICATION

A2 [N] Thrust force on output shaft

A2 Equ [N] Equivalent thrust force applying on output shaft
A2 mAX [N] Maximum thrust force applying on output shaft
R2 [N] Radial force on output shaft

Rz Equ [N] Equivalent radial force applying on output shaft
R2 max [N] Maximum radial force applying on output shaft
ED [min] Loading time

ED% [%] Loading time %

L1oh TARGET [h] Output shaft bearings’ desired basic rating life
M1 pEAK [Nm] Maximum input torque (usually motor)

M2(1) ... M2(n) [Nm] Output torque at each of the time periods t1 ... tn
M2 Equ [Nm] Equivalent output torque

M2 max [Nm] Maximum output torque in case of emergency
Mr2 EQu [Nm] Equivalent tilting moment applying on output shaft
M2 max [Nm] Maximum tilting moment applying on output shaft
n2 [min-1] Output speed

n2(1) ... N2(n) [min-1] Output speed based on the time periods t1 ... th
N2 EQu [min-1] Equivalent output speed

N2 MAX [min-1] Maximum output speed

T [C] Ambient temperature

t1...th [s] Time periods of motion

ty [s] Cycle duration including pause

Z [1/h] Cycle number per hour

Values depending on the GEAR DRIVE SELECTION

A2 3 max [N] Admissible thrust force on output shaft
A2'max [N] Thrust force acting simultaneously with the rated radial force
R1 max [N] Admissible radial force at midpoint of input shaft
R2 3 max [N] Admissible radial force at midpoint of output shaft
Cs [Nm] Constant for bearing's lifetime calculation
Ct larﬁgin Torsional stiffness
fn — Speed factor
fz — Cycle factor
fr — Temperature adjusting factor
i — Gearbox ratio
Je [kgem?] Mass moment of inertia of the gearhead
Kn — Speed constant
L1on [h] Bearings’ basic rating life
Lz [mm] Factor for bearing's lifetime calculation
Ma 2 [Nm] Maximum acceleration output torque
M 2 [Nm] Rated output torque
Mp 2 [Nm] Emergency stop output torque
MT2 max [Nm] Maximum tilting moment applying on output shaft
Maximum momentary input speed. The speed the unit can be driven at
. occasionally and in non-repetitive conditions
N1 max [min-1] . . .
For cycle duty type S5, it cannot be applied continuously for more than
30 seconds
p — Bearing lifetime exponent
n [%] Gear efficiency
. Reduced backlash is calculated in static conditions and with the
Pr [arcmin] application of a torque equal to 2% of the gear unit rated torque
. Standard backlash is calculated in static conditions and with the
s [arcmin] application of a torque equal to 2% of the gear unit rated torque
@ Bonfiglioli

Tecnoingranaggi



1.2 SELECTING THE GEAR UNIT

. . i = N
(a) | Ratio i — M
(b) Equivalent M INm] 3\/ nz(1)'t1"Mz(1)‘3 .o+ ng(n)’tn"'\”z(n)‘3
2 EQU M =
output torque 2EQU Mgty t1 + oo * Ny~ o
; B TRt DYPIR ORI o (PYSIR ¢
Equivalent 1 ln _ N2yt T Nog)t 2(n) "t
©) | qutput speed n2equ | [min-T] | TzEQu ty
If Kn a1 =1 fn - speed factor
N Equ ° !
(d) | Speed factor fn — ZEKU m
If —"— <1 => f, = Obtain from diagram |
N2equ *! ‘
i+t + L+t | |
Loadingtime % ED% |[%] |ED% = T ™ - 100 251
(e) >
Loading time ED [min] |[ED=t;+t+... +t,
2
3600 \
Cycle number - \\
) per hour Z [1/h] ts fn
Z i 15
Z <1000 1.00 \‘
1000 < Z <1500 1.25
(9) | Cycle factor fz — 1500 < Z < 2500 1.50 1
2500 < Z < 4000 1.75
4000 < Z <6000 2.00
Z > 6000 contact us 0.5
0 05 1
IfT<30°C = fr=1 K
Temperature o_ —n
(h) adjusting factor fT - IfT > 30°C |:> fT =1+ ﬂ na EQU * 1
100°C
Maximum a) maximum possible application torque
@) | M1 peak | [Nm] | b) limited motor torque by inverter
input torque .
¢) maximum motor torque
Kn - speed constant
i TR053 | TR060 | TR080 | TR105 | TR130 | TR160 | TR 190 i TR053 | TR060 | TR080 | TR105 | TR130 | TR160 | TR 190
3 1392 1392 2675 2500 1696 540 1500 100 | 4000 4000 4000 3500 3200 3000 2900
4 1980 1584 1513 1615* 504* 326* 1158 112 | 3500
5 2320 2047 1726 1843* 574* 372* 1321 120 4000 4000 3500 3200 2143 2900
6 2297 2523 2522 1032* 153* 132 1125* 125 | 4000 3500 3200 3000 2900 1819 2300
7 3790 3032 2117 1353 423 319 1619 140 | 4000 4000 4000 3500 3200 2037 2900
9 4000 3300 2900 2500 2100 1620 1500 144 | 4000
10 4000 4000 3500 3200 172 2900 150 4000 4000 3500 3200 2183 2900
12 3300 3300 1478 1522 516 319 1058 160 4000 4000 3500 3200 2551 2900
15 3300 3300 1687 1737 588 364* 1207 175 | 4000 4000 4000 3500 3200 2547 2900
16 3500 3500 1971 2030 688 425* 1410 180 | 4000
20 3500 3500 2464 2537 860 319 1763 200 4000 4000 3500 3200 2911 2900
25 3500 3500 2812 2895 980 364 2011 210 4000 4000 3500 3200 2677 2900
28 4000 4000 3449 3500 1204 446 2468 216 | 3500 3500 3200 3000 1881 976 2300
30 4000 4000 3500 3200 3000 1930 225 | 4000
35 4000 4000 3937 3500 1372 509 2815 245 | 4000
36 4000 3500 3200 1945 551 500 2300 250 4000 4000 3500 3200 3000 2900
40 4000 4000 3500 1720 638 2900 252 | 4000
45 4000 280 4000 4000 3500 3200 3000 2900
48 4000 3500 3100 2800 2314 857 2100 324 | 4000
50 4000 4000 3500 1959 728 2900 350 4000 4000 3500 3200 3000 2900
60 3500 400 4000 4000 3500 3200 3000 2900
64 3500 3500 3100 2800 2752 1020 2100 405 | 4000
70 4000 4000 3500 2408 892 2900 500 4000 4000 3500 3200 3000 2900
75 3500 3500 3200 3000 3200 1339 2300 567 | 4000
80 4000 3500 3100 2800 2400 1275 2100 700 4000 4000 3500 3200 3000 2900
81 4000 729 | 4000
84 4000 4000 4000 3500 2889 1071 2900 1000 4000 4000 3500 3200 3000 2900
90 4000 4000 3500 2826 3000 2900
In case of S1 duty the values marked with * reduce the average service life of bearings.
@ Bonfiglioli

4

Tecnoingranaggi



Load diagram

e==s M2: Output torque

Speed diagram

emss n2: Output speed

M2(1)
My
0 ]
[s]
Mz(3)
n22)
ny(q) Ny3) | Ny(1) = Na3) = 0.5 © nyp)
.
’l
4
s
b t 5|t | U
\ ED

Estimate ratioi

Select a smaller NO
ratio
YES
Define M, gqu (b)
Define nyequ (©
Select gear unit
Select a Define f, ()
bigger unit
NO
YES
ED% < 60% ED% = 60%
and ED < 20 min or ED = 20 min ©)
NO
®)
S1 cycle dut
y y
YES
S5 cycle duty Define f, @
Define f; (h)
Select a Define M, pgak Define M, peak (i) Select a
bigger unit bigger unit
NO . . NO
Mipeak s i-nsM,, Mipeax - i-fz-fr-nsM,,
Select a YES YES
bigger unit
NO
YES
Check the external
forces on output shaft
@ Bonfiglioli

Tecnoingranaggi




1.3 SERVICE LIFE OF BEARINGS
<L>‘
{ Rz
R A
s «1‘-»—"
Az
Maximum radial force applying Ro MAX IN]
on output shaft . - -
(@) Please consider the specific conditions
. . . (e.g. belt drives under acceleration torque)
Maximum axial force applying A IN]
on output shaft 2 MAX
Maximum tilting moment applying _ Romax - (x+Lz) £ Agmax - Y
®) | on output shaft Mrzmax | [Nm] Mramax = 1000
3 3
Nyt R +... Nyt [R
R EQu IN] Rotau _3| M2t | 2(1)| 2(n)" Tn | 2(n)|
Nagry tr+ o+ Ny - ty
Equivalent forces applying
(c)
on output shaft - .
Nocqy ty-| A + ot Ny o[ A
Az EQu IN] Porau =3\/ 2(1)" b | 2(1)| 2(n)" tn | 2(n)|
Moyt + oo+ Ny by
Equivalent tilting moment applying _ Ropau - (X+Lz) + Ageau Y
@ | on output shaft Mr2equ | [Nm] Mr2equ= 1000
. . o) "t + Moy "o+ + Moy "ty
(e) | Equivalent output speed N2 EQU [min-1] N2Equ =
i+,
P
16666 Cg
(f) | Bearings' basic rating life L1on [h] 10h = IV
N2equ  (Mr2EQU
TR 053 TR 060 TR 080 TR 105 TR 130 TR 160 TR 190
Lz [mm] 22 23 42 53 74 94 100
MT 2 max INm] 16 23 155 278 515 739 1683
Cs [Nm] 91 143 994 2048 3893 5824 8680
p — 3 3 3.33 3.33 3.33 3.33 3.33
5 @ Bonfiglioli

Tecnoingranaggi



Define R,uaxand A, uax (a)

Select a
bigger unit
NO Asuax S Ay nae
RZ MAX < R2 ma.
YES
Calculate Mtamax (b)
Select a
bigger unit
NO
YES
Define Rgqu and A jequ (c)
Calculate M+zequ ()
Define nyequ (e)
Calculate lifetime L4op )
Select a
bigger unit
NO

L1on > L1on TARGET

YES

Calculation of bearings
lifetime complete

@ Bonfiglioli

Tecnoingranaggi



2

FEATURES OF MP SERIES

Planetary gear units of the MP series belong to a range of low backlash drives very broad and complete as far as transmissible torque, gear
ratios and circumferential backlash.
All units are generously proportioned to run quietly and provide a long service life without maintenance requirements.
Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available in
a normally equipped workshop.

¢ Available with either standard (STD) or reduced (LOW) backlash.

1 reduction gearhead Qs =5' Pr =3
2 reduction gearheads Ps =5' Pr =3
3 reduction gearheads (G and MB only) Ps =5 Pr=3'
3 reduction gearheads Qs =7 Pr =5
4 reduction gearheads (G and MB only) Ps =7 ¢r =5

Ratio i = 10 available for single-reduction units (i = 9 for frame size TR 053 alone).

Degree of protection IP65.

Max. noise level Lp < 70 dB(A) @ n1 = 3000 min-1.

Bearings suitably rated for an average service life of 20,000 hours under nominal operating conditions. The following chart shows the

types of bearings for the output shaft.

TR 053 TR 060

TR 080

TR 105

TR 130

TR 160

TR 190

SB

g | -d

i

=

i

=

i

[N] 16000

Output shaft max. loading capacity

14000 -

12000 4

10000 -

8000

6000

4000

2000

TR 053

TR 060

TR 080

300 4000

TR 105

D R2 max

6500

5500

TR 130

. A2 max

6500

7500

TR 160

15000

14000

TR 190

@ Bonfiglioli

Tecnoingranaggi




¢ Wide range of adapter flanges matching the most popular brands of motors.

Available motor shaft bores

6‘ 789 ‘10 1 12‘ 14 1617 19 22 24 28 32 35 38 42 45 48
6.35 9.52 127 15.875 19.05 @ [mm]

¢ Units are factory filled with lubricant suitable for installation at ambient temperature within the range 0°C...40°C. Because the quantity
of lubricant required depends on the mounting position, this must be specified in the order.
In the absence of contamination the lubricant does not require periodical changes.
The type of lubricant and the material used for the seals also vary according to duty rating and gearbox size. The chart below illustrates
the various combinations:

duty TR 053 - TR 060 TR 080 ... TR 190 oil seals
S1 (continuous) NLGI grease consistency 00 Synthetic oil viscosity ISO VG 220 Viton ®
S5 (intermittent) NLGI grease consistency 00 NLGI grease consistency 00 NBR

Distribution of nominal torque  Mn2 [Nm]
M 3| 4,5, 6|79 10|12 |15 16 | 20 | 25|28 | 30 | 35| 36 | 40 | 45| 48 | 50 | 60 | 64 | 70 | 75 | 80 | 81 | 84 | 90

TRO053 | 12 |15 | 15|16 |16 |12 | - |20 120120202020 | - |20 15| - 20|20 | — |20 20| - 20|20 |12 |20 | -
TR060 | 18 | 25 |25 | 25|25 |18 |18 |30 |30 |30 |30|30|{30 1830|2530 | - {3030 - |30|30|{30 30| —-]30]18
TR080 | 40 | 50 | 50 | 50 | 50 | 40 |40 |70 |70 | 70 | 70 | 70 | 70 | 40 | 70 | 50 |70 | = |70 |70 | — |70 |70 |70 |70 | — | 70 | 40

TR 105 | 100 | 140|140 | 140|140 |100| 100|170 (170|170 |170|170| 170/ 100|170|140170| — |170(170| — |170|170|170|170| — |170|100

TR 130 {215 380|380 | 380|380 215|215 450 | 450|450 | 450 | 450 | 450 | 215|450|380 450 | — |450 (450 | — |450 450|450 450 | — |450|215

TR 160 |350 | 500 | 500 | 500 | 500 | 350 | 350 | 700 | 700 | 700 | 700 | 700 | 700 | 350 | 700|500 | 700 | — |700|700| — |700|700|700 700 | — |700|350

TR 190 {500 700 | 700 | 700 | 700 | 500 | 500 |1000{1000|1000{1000{1000|1000 500 [1000| 700 |1000| — |1000{1000| — |1000/1000{1000/1000| - |1000| 500

[I]/100 112 | 120|125 140 | 144 150 160 | 175|180 | 200 | 210 216 | 225|245 | 250 | 252 | 280 | 324 | 350 | 400 | 405 | 500 | 567 | 700 | 729 1000

TRO53 |20 |20 | - |20 20 |20 | - | - |20 20| - | - |20 20|20 | - |20| = |20 | - | - |20| - |20 | - | 12| -
TRO60 | 18 | - |30 |30 |30 | - |30 (30|30 | - |30|30(30| - |- |3|-[3|-|3/[3/|-[3]|-|3/-/18
TRO80 |40 | - |70 |70 |70 | - |70 |70 |70 | - |70 |70 |70 | - | - |70 | - |70 | - |70 |70 | - |70 | - |70 | - |40
TR105 |100| - |[170|170|170| - 170|170 170| - 170|170 170| - | - [170| = [170| - |170|170| - [170| - [170| - |100
TR130 |215| - |450|450 450 | - |450|450 450 | - |450 450450 - | - |450| — |450| — |450(450| - |450| - |450| - |215
TR160 |700| - |350|700|700| - |700|700 700| - 700|700 - | - | - |700| - |700| - |700|700| - |700| - |700| - |350
TR 190 [1000] - |500|100011000] - |100010001000] - |100011000| - | - | - |1000| - [1000| - |1000/1000| - |1000| - |1000| - |500
@ Bonfiglioli

Tecnoingranaggi 9



3

ORDERING CODE

TR G 080 3

20 STD 95A CD

6..

19 $S1

— DUTY

OR SB KL

\\ OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft (@ MB)

— OUTPUT SHAFT BEARINGS
SB standard

S1 continuous

S5 intermittent

—MOTOR COUPLING

L INPUT SHAFT BORE
.48 (@1S)

CD clamping device (@ IS)

— MOUNTING POSITION
OR horizontal
VA vertical with motor up

VB vertical with motor down

10

— INPUT SECTION
25AH ... 180A1 motor adapter
IS solid imput shaft (TR 053 ... TR 160) (@ G - @ MB)
FM without motor adapter
L— BACKLASH
1 reduction | 2 reductions | 3 reductions | 3 reductions | 4 reductions
(MB, G only) (MB, G only)
STD (Ps=5 Ps=39' Ps=3' Ps=T7"' QPs=T7'
LOW
R=3' R:s' R=3' R=5' R=5'
(@ TR 053) ¢ ¢ ¢ ¢ ¢
— GEAR RATIO
— REDUCTIONS
3 4
— FRAME SIZE
053 060 080 105 130 160 190
— VERSION
— coaxial
G with input right-angle (TR 053 ... TR 160)
MB cwith output right-angle (TR 080 ... TR 160)
— SERIES
TR
@ Bonfiglioli

Tecnoingranaggi



3

3.1 VERSION AND INPUT SECTION

VERSION
coaxial (—) with input right-angle (G) with output right-angle (MB)

25AH ... 180A1 I -
z
o
o

e IS sw!! —
-
)
a
P

FM dl —

3.2 MOUNTING POSITIONS

MB

4 ADMISSIBLE RADIAL AND THRUST FORCES FOR MB VERSION

|

A

@ R2 max A2 max L R3 max A3 max

[N] [N] [mm] [N] [N]

TR MB 080 6000 5000 60 5500 5000
TR MB 105 9000 7500 80 7500 7500
TR MB 130 13500 11500 100 11000 11500
TR MB 160* 15000 11500 100 12500 11500

* Bearings suitably rated for an average service life of 10,000 hours under nominal operating conditions.

@ Bonfiglioli

Tecnoingranaggi 1 1



TR 053

5 DIMENSIONS AND TECHNICAL SPECIFICATIONS

53 (TR0531)
66.8 (TR 053 2)
25 80.6 (TR 053 3) 245
3.25 125 3
14 | 14 |25
| |
| : o)
%)
~[ 1~ LN~ ¥
<l < 3 [ i <l <l TR 053 1 0.8
o o S N[ N0
© —fo S ™ TRO0532 | 1.0
el = = % TR0533 | 1.3
40+0.05 = 4.5 ‘ ‘ 5.5 =
ENEN Lo
58.2 (TR 053 1)
72 (TR0532)
N5 85.8 (TR 053 3) 245
N3 3
2.5
] W14 .25 &
77 | ) L H,Q =
= Yo
za | RS TRO0531 | 0.8
e }{’/ o Ey SRR TRO0532 | 1.0
> —_—t (") [/ —] x
/ i © § TR 0533 1.3
/ 40 4_70.05 Loy +J~71 0
\\\4\50 |
— —
o R N N1 N2 | N3 | N4 | N5 | Lmax
pus
min max
25AH 6 635 7 8 9 952 - - - - - 25 36 48
26AH 6 635 7 8 9 952 - — - - - 26 36 48
28AH 6 635 7 8 9 952 - - - - - 28 36 48
30AH 6 635 7 8 9 952 - - - - - 30 36 48
32AH 6 635 7 8 9 952 - - - - - 32 38 48 55 35 45 25 25
34AH 6 635 7 8 9 952 - - — - — 34 40 48
36AH 6 635 7 8 9 952 - - — — - 36 42 48
38AH 6 635 7 8 9 952 - - - - - 38 44 48
40AH 6 635 7 8 9 952 - — - - - 40 46 48
38B 6 635 7 8 9 952 10 11 12 127 - | 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 M 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 M1 12 127 14 50 65 60 4 55 23 30
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 635 7 8 9 952 10 11 12 127 - 50 65 55 2 5.5 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 63 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 M1 12 127 - 60 75 65 3 55 18 25
60A1 6 635 7 8 9 952 10 MM 12 127 14 60 75 63 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 MM 12 127 14 60 75 65 3 5.5 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 6.35 7 8 9 952 10 M1 12 127 14 70 85 75 8 M6x15 23 30
70B 6 635 7 8 9 952 10 M1 12 127 14 70 90 75 3 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30
12 @ Bonfiglioli

Tecnoingranaggi




“TR053 M

FM
L1
L3 L2
J
— N
o P ¢ G B ] R _
° E 7 a
w74 ‘o)
8 ‘L4
Van
D (\* D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 42.5 M4x8 M4 20.2 13.2 3 8.7 8
9 9.52 10 325 50 425 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 8515 50 42.5 M4x8 M4 20.5 13.5 3 8.5 11
14 35.5 50 425 M4x8 M4 24 17 3 10.2 11.5
N M M M C R R: A Bl
= n
m‘ n2 a2 p2 1 max CPs t 1 max 2 max 2 max n ﬁ
A Nm “’
(Nm]  [Nm]  [Nm]  [min] f[arcmin] ’m] NI NI IN] % 6...9.52 10... 14
TR 053 1_3 12 22 40 4000 o) 1.0 200 500 600 97 0.06 0.08
TR 053 1_4 15 28 45 5000 o) 1.0 200 500 600 97 0.05 0.06
TR 053 1_5 15 28 45 5000 5' 1.0 200 500 600 97 0.04 0.06
TR 053 1_6 15 28 45 5000 5' 1.0 200 500 600 97 0.03 0.05
TR0531_7 15 28 45 6000 5' 1.0 200 500 600 97 0.03 0.05
TR 053 1_9 12 22 40 6000 5' 1.0 200 500 600 97 0.03 0.05
TR 053 2_12 20 30 60 4000 5' 0.9 200 500 600 94 0.06 0.08
TR 053 2_15 20 30 60 4000 5' 0.9 200 500 600 94 0.06 0.08
TR 053 2_16 20 30 60 5000 5' 0.9 200 500 600 94 0.05 0.06
TR 053 2_20 20 30 60 5000 5' 0.9 200 500 600 94 0.04 0.06
TR 053 2_25 20 30 60 5000 5' 0.9 200 500 600 94 0.04 0.06
TR 053 2_28 20 30 60 6000 5' 0.9 200 500 600 94 0.03 0.05
TR 053 2_35 20 30 60 6000 5' 0.9 200 500 600 94 0.03 0.05
TR 053 2_36 15 28 45 6000 5' 0.9 200 500 600 94 0.03 0.05
TR 053 2_45 20 30 60 6000 5' 0.9 200 500 600 94 0.03 0.05
TR 053 2_81 12 22 40 6000 O 0.9 200 500 600 94 0.03 0.05
TR 053 3_48 20 30 60 5000 7' 0.7 200 500 600 91 0.05 0.07
TR 053 3_60 20 30 60 5000 7' 0.7 200 500 600 91 0.05 0.07
TR 053 3_64 20 30 60 5000 7 0.7 200 500 600 91 0.05 0.06
TR 053 3_75 20 30 60 5000 7' 0.7 200 500 600 91 0.04 0.06
TR 053 3_80 20 30 60 5000 7' 0.7 200 500 600 91 0.05 0.06
TR 053 3_84 20 30 60 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_100 20 30 60 5000 7 0.7 200 500 600 91 0.04 0.06
TR 053 3_112 20 30 60 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_125 20 30 60 5000 7' 0.7 200 500 600 91 0.04 0.06
TR 053 3_140 20 30 60 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_144 20 30 60 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_175 20 30 60 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_180 20 30 60 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_216 20 30 60 5000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_225 20 30 60 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_245 20 30 60 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_252 20 30 60 6000 7' 0.7 200 500 600 91 0.05 0.06
TR 053 3_324 20 30 60 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_405 20 30 60 6000 7 0.7 200 500 600 91 0.03 0.05
TR 053 3_567 20 30 60 6000 7' 0.7 200 500 600 91 0.03 0.05
TR 053 3_729 12 22 40 6000 7' 0.7 200 500 600 91 0.03 0.05

@ Bonfiglioli

Tecnoingranaggi 1 3



TR G 053

25AH ... 80A

z
2
25
SS 64 &
~
£ B S SN ST | fﬂtg TRGO0532 | 1.3
o N ,E‘"’ TRGO0533 | 15
© N =R ~ TRGO0534 | 1.8
BImemn ||
28.1 116.5 (TRG 053 4) 24.5
N4_
& &)
| 2 \
VAN
\\\KJ/// /
& T ,KQ
N2
N1
b <R N N1 N2 | N3 N4 N5 | Lmax
&
min max
25AH | 6 635 7 8 9 95 - - - _— _ | 25 | 36 | 48
26AH | 6 635 7 8 9 952 - - - - _— | 26 | 36 | 48
28AH | 6 635 7 8 9 95 - - - - — | 28 | 36 | 48
30AH | 6 63 7 8 9 95 - - — - — | 30 | 36 | 48
32AH |6 635 7 8 9 95 - - - _— _| 32 | 38 | 48 | 5 | 35 45 25 | 25
34AH | 6 635 7 8 9 952 - - - — _ | 34 | 40 | 48
36AH | 6 635 7 8 9 95 - - - - - | 3 | 42 | 48
38AH |6 63 7 8 9 95 - - - - — | 38 | 44 | 48
40AH |6 635 7 8 9 952 - - — - — | 4 | 46 | 48
38B 6 635 7 8 9 952 10 11 12 127 — | 381 66.6 60 3 | Max10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 3 | Max10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 | Max10 | 18 | 25
508 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 3 | M5x12 | 23 | 30
50BH |6 635 7 8 9 952 10 11 12 127 14| 50 65 60 | 4 55 23 | 30
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 3 | M4x10 | 23 | 30
50MH |6 635 7 8 9 952 10 11 12 127 - | 50 65 55 2 55 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 63 3 | M5x12 | 18 | 25
60A1 6 635 7 8 9 952 10 11 12 127 14| 60 75 63 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 3 | M5x12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 90 75 3 | M5x12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 | Méx15 | 23 | 30
708 6 635 7 8 9 952 10 1 12 127 14| 70 90 75 3 | Msx12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 3 | Msx12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 3 | Mex15 | 23 | 30

@ Bonfiglioli

1 4 Tecnoingranaggi



TR G 053

D1
N N
QDS ngz View from @)
s [y DA
D]
T =
| I
D (\— 3 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 325 50 425 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 355 50 425 M4x8 M4 20.5 13.5 3 8.5 11
14 35.5 50 425 M4x8 M4 24 17 3 10.2 1.5
M M (o R A lle
2 2 N1 max
a p Qs t 2 max 2 max n ﬁ
: : Nm N
[Nm] INm] | [min']  [aremin] |5 cmin [N] [N] % 6...9.52 10 ... 14
TRG 0532 3 22 40 4000 5 1.0 500 600 94 0.18 0.20
TRG 0532 4 28 45 5000 5' 1.0 500 600 94 0.18 0.19
TRG0532 5 28 45 5000 5 1.0 500 600 94 0.17 0.19
TRG0532_6 28 45 5000 5 1.0 500 600 94 0.17 0.18
TRG0532_7 28 45 6000 5 1.0 500 600 94 0.17 0.19
TRG 05329 22 40 6000 5' 1.0 500 600 94 0.17 0.18
TR G 053 3_12 30 60 4000 5 0.9 500 600 91 0.18 0.20
TR G 053 3_15 30 60 4000 5 0.9 500 600 91 0.18 0.20
TR G 053 3_16 30 60 5000 5' 0.9 500 600 91 0.17 0.19
TR G 053 3_20 30 60 5000 5' 0.9 500 600 91 0.17 0.19
TR G 053 3_25 30 60 5000 5 0.9 500 600 91 0.17 0.19
TR G 053 3_28 30 60 6000 5' 0.9 500 600 91 0.17 0.19
TR G 053 3_35 30 60 6000 5' 0.9 500 600 91 0.17 0.19
TR G 053 3_36 28 45 6000 5' 0.9 500 600 91 0.17 0.18
TR G 053 3_45 30 60 6000 5 0.9 500 600 91 0.17 0.19
TR G 053 3_81 22 40 6000 5' 0.9 500 600 91 0.17 0.18
TR G 053 4_48 30 60 5000 7' 0.7 500 600 89 0.18 0.19
TR G 053 4_60 30 60 5000 7 0.7 500 600 89 0.18 0.19
TR G 053 4_64 30 60 5000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_75 30 60 5000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_80 30 60 5000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_84 30 60 6000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_100 30 60 5000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_112 30 60 6000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_125 30 60 5000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_140 30 60 6000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_144 30 60 6000 7 0.7 500 600 89 0.17 0.18
TR G 053 4_175 30 60 6000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_180 30 60 6000 7 0.7 500 600 89 0.17 0.18
TR G 053 4_216 30 60 5000 7 0.7 500 600 89 0.17 0.18
TR G 053 4_225 30 60 6000 7 0.7 500 600 89 0.17 0.18
TR G 053 4_245 30 60 6000 7 0.7 500 600 89 0.17 0.19
TR G 053 4_252 30 60 6000 7 0.7 500 600 89 0.18 0.20
TR G 0534 _324 30 60 6000 7 0.7 500 600 89 0.17 0.18
TR G 053 4_405 30 60 6000 7 0.7 500 600 89 0.17 0.18
TR G 053 4_567 30 60 6000 7 0.7 500 600 89 0.17 0.18
TR G 053 4_729 22 40 6000 7' 0.7 500 600 89 0.17 0.18

@ Bonfiglioli

Tecnoingranaggi 1 5



PO TR 060

IS 62.75 (TR 060 1)
79.45 (TR 060 2)
25 96.16 (TR 060 3) 38
3.25 ‘ 2.5 3
14 20 5
‘ | T
= = EI = @
S e HE&E&E—S|Sl8 TRO0601 | 1.2
~loe oY TRO0602 | 1.7
g | j : g TR0603 | 2.0
52 +0.05 4.5 6.5
ENER Llo
25AH e 80A 57.55 (TR 060 1)
74.25 (TR 060 2)
N5  90.95 (TR 060 3) 38
3
‘ 3.5
\Ai—i &
\ \ et
Lﬁjfﬁg 9 TRO0601 | 1.2
o Ant TR 060 2 1.7
= g TR0603 | 20
10
) N N1 N2 | N3 | N4& | N5 | Lmax
N N
o min max
25AH 6 635 7 8 9 952 - - - - - 25 39 56
26AH 6 635 7 8 9 952 - — - — - 26 39 56
28AH 6 635 7 8 9 952 - - - - - 28 39 56
30AH 6 635 7 8 9 952 - - - - - 30 39 56
32AH 6 635 7 8 9 952 - - - - - 32 39 56 65 3.5 4.5 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 56
36AH 6 635 7 8 9 952 - - - - — 36 42 56
39AH 6 635 7 8 9 952 - - - - - 39 45 56
40AH 6 6.35 7 8 9 952 - - — - — 40 46 56
38B 6 635 7 8 9 952 10 11 12 127 - | 38.1 66.6 60 3 M4x10 18 25
40B 6 6.35 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 M 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 65 3 55 25 32
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 S M4x10 23 30
55MH 6 635 7 8 9 952 10 M 12 127 - 55 80 65 2 5.5 16 23
60A 6 635 7 8 9 952 10 M 12 127 - 60 75 63 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 M1 12 127 - 60 75 65 3 55 18 25
60A1 6 6.35 7 8 9 952 10 M1 12 127 14 60 75 63 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 MM 12 127 14 70 90 75 3 M5x12 23 30
73A 6 635 7 8 9 952 10 M1 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

@ Bonfiglioli

1 6 Tecnoingranaggi



“TR060 M

FM
L1
L3 L2
J
5 R i e ===~
- 7 a
7% %)
g,
/D
D \ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 20.2 13.2 & 8.7 8
9 9.52 10 325 50 42.5 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 BoI5! 50 42.5 M4x8 M4 20.5 13.5 S 8.5 11
14 355 50 42.5 M4x8 M4 24 17 3 10.2 11.5
T M M M (of R R A elea
N n2 a2 2 N1 max t 1 max 2 max 2 max
\‘h&“l p Ps | @r n g
[Nm] [Nm] [Nm] [min"] [arcmin] [ag:m] NN OINOIN % 6..9.52 10...14
TR 060 1_3 18 35 70 4000 5} 3' 3.0 200 600 700 97 0.10 0.11
TR 060 1_4 25 40 90 5000 & 3' 3.0 200 600 700 97 0.06 0.08
TR 060 1_5 25 40 90 5000 o i 3.0 200 600 700 97 0.05 0.07
TR 060 1_6 25 40 90 5000 6} 3' 3.0 200 600 700 97 0.04 0.06
TR 060 1_7 25 40 90 6000 & & 3.0 200 600 700 97 0.04 0.06
TR 060 1_10 18 85) 70 6000 6} 3' 3.0 200 600 700 97 0.03 0.05
TR 060 2_9 18 85] 70 4000 6} & 2.5 200 600 700 94 0.10 0.12
TR 060 2_12 30 45 100 4000 5' & 2.5 200 600 700 94 0.10 0.11
TR 060 2_15 30 45 100 4000 5' & 2.5 200 600 700 94 0.09 0.11
TR 060 2_16 30 45 100 5000 5' 3 2.5 200 600 700 94 0.06 0.08
TR 060 2_20 30 45 100 5000 o & 2.5 200 600 700 94 0.05 0.07
TR 060 2_25 30 45 100 5000 o & 2.5 200 600 700 94 0.05 0.06
TR 060 2_28 30 45 100 6000 o & 2.5 200 600 700 94 0.04 0.06
TR 060 2_30 18 35 70 6000 5 & 2.5 200 600 700 94 0.03 0.05
TR 060 2_35 30 45 100 6000 o & 2.5 200 600 700 94 0.04 0.06
TR 060 2_36 25 40 90 5000 & & 2.5 200 600 700 94 0.04 0.06
TR 060 2_40 30 45 100 6000 5} & 2.5 200 600 700 94 0.03 0.05
TR 060 2_50 30 45 100 6000 5} 3' 2.5 200 600 700 94 0.03 0.05
TR 060 2_70 30 45 100 6000 & 3' 2.5 200 600 700 94 0.03 0.05
TR 060 2_100 18 35 70 6000 & 3' 2.5 200 600 700 94 0.03 0.05
TR 060 3_48 30 45 100 5000 7 5’ 2.0 200 600 700 91 0.06 0.08
TR 060 3_64 30 45 100 5000 7' o 2.0 200 600 700 91 0.06 0.08
TR 060 3_75 30 45 100 5000 7' o 2.0 200 600 700 91 0.05 0.07
TR 060 3_80 30 45 100 5000 7' 53 2.0 200 600 700 91 0.06 0.08
TR 060 3_84 30 45 100 6000 7' o} 2.0 200 600 700 91 0.04 0.06
TR 060 3_90 18 5] 70 6000 7' & 2.0 200 600 700 91 0.03 0.05
TR 060 3_120 30 45 100 6000 7' 5} 2.0 200 600 700 91 0.03 0.05
TR 060 3_125 30 45 100 5000 7' 5} 2.0 200 600 700 91 0.05 0.07
TR 060 3_140 30 45 100 6000 7 o 2.0 200 600 700 91 0.04 0.06
TR 060 3_150 30 45 100 6000 7' 5 2.0 200 600 700 91 0.03 0.05
TR 060 3_160 30 45 100 6000 7' 5 2.0 200 600 700 91 0.03 0.05
TR 060 3_175 30 45 100 6000 7' 5 2.0 200 600 700 91 0.04 0.06
TR 060 3_200 30 45 100 6000 7 & 2.0 200 600 700 91 0.03 0.05
TR 060 3_210 30 45 100 6000 7' 5} 2.0 200 600 700 91 0.03 0.05
TR 060 3_216 30 45 100 5000 7' &) 2.0 200 600 700 91 0.04 0.06
TR 060 3_250 30 45 100 6000 7 & 2.0 200 600 700 9 0.03 0.05
TR 060 3_280 30 45 100 6000 7' 5} 2.0 200 600 700 91 0.03 0.05
TR 060 3_350 30 45 100 6000 7' & 2.0 200 600 700 91 0.03 0.05
TR 060 3_400 30 45 100 6000 7 & 2.0 200 600 700 9 0.03 0.05
TR 060 3_500 30 45 100 6000 7 5' 2.0 200 600 700 91 0.03 0.05
TR 060 3_700 30 45 100 6000 7 5' 2.0 200 600 700 91 0.03 0.05
TR 060 3_1000 18 85 70 6000 7' 5' 2.0 200 600 700 91 0.03 0.05

@ Bonfiglioli

Tecnoingranaggi 1 7



TR G 060

25AH ... 80A

N
2 D
== 3
2 * T s
5h7 El 20 5
@./T% %S 64 | fico)
2 \ /| N
F—#@—— TEEE R SRR — | —— L — < TRGO0602 | 17
o [N~ & 2 = TRG0603 | 22
- == N = v TRGO0604 | 25
BB o
58 28.1 126.85 (TR G 060 4) 38
i
[0 =B
,// . \
\ \\\K J// /
=4 \: :/ he
N2
N1
b {3 N N1 N2 | N3 N4 N5 | Lmax
R
min max
25AH | 6 635 7 8 9 95 - - - - _| 25 | 39 | 56
26AH | 6 635 7 8 9 952 - - - — _| 26 | 39 | 56
28AH | 6 635 7 8 9 952 - - - _— _| 28 | 39 | 56
30AH |6 63 7 8 9 95 - - - - _| 3 | 39 | 56
322AH | 6 635 7 8 9 952 - - - - _—| 3 | 39 | 56 | 65 | 35 45 25 | 25
34AH | 6 635 7 8 9 952 - - — - _— | 34 | 40 | 56
3AH | 6 635 7 8 9 952 - - - — _| 3 | 42 | 56
39AH | 6 63 7 8 9 952 - - - — _ | 39 | 45 | 56
40AH |6 635 7 8 9 952 - - - _— _ | 4 | 4 | 56
38B 6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 | 3 | Max10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 | 3 | mMax10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 | 3 | Max10 | 18 | 25
508 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 | 3 | M5x12 | 23 | 30
50BH |6 635 7 8 9 952 10 11 12 127 14| 50 65 65 | 3 55 25 | 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 | 3 | M4x10 | 23 | 30
55MH | 6 635 7 8 9 952 10 11 12 127 - | 55 80 65 | 2 55 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 63 | 3 | mM5x12 | 18 | 25
60A1 6 635 7 8 9 952 10 11 12 127 14| 60 75 63 | 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 | 3 | mMsx12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 90 75 | 3 | M5x12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 | 3 | Mex15 | 23 | 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 90 75 | 3 | Msx12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 | 3 | msx12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 | 3 | Mex15 | 23 | 30
@ Bonfiglioli
1 8 Tecnoingranaggi




TR G 060

FM -
N 03
N N
QO .
N View from Q
S a5 24T
Dl
/ oo
D, {5 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | M4x8 M4 20.2 132 3 8.7 8
9 9.52 10 325 50 425 | M4x8 M4 20.2 13.2 3 7.8 9
1 12 12.7 35.5 50 425 | M4x8 M4 20.5 135 3 8.5 1
14 35.5 50 425 | M4x8 M4 24 17 3 10.2 115

‘ Mn 2 Ma 2 Mp 2 Qs Qr (o R2max A2 max

TR G 060 2_3
TR G 060 2_4
TR G 060 2_5
TR G 060 2_6
TR G 060 2_7
TR G 060 2_10
TR G 060 3 9
TR G 060 3_12
TR G 060 3_15
TR G 060 3_16
TR G 060 3_20
TR G 060 3_25
TR G 060 3_28
TR G 060 3_30
TR G 060 3_35
TR G 060 3_36
TR G 060 3_40
TR G 060 3_50
TR G 060 3_70
TR G 060 3_100
TR G 060 4_48
TR G 060 4_64
TR G 060 4_75
TR G 060 4_80
TR G 060 4_84
TR G 060 4_90
TR G 060 4_120
TR G 060 4_125
TR G 060 4_140
TR G 060 4_150
TR G 060 4_160
TR G 060 4_175
TR G 060 4_200
TR G 060 4_210
TR G 060 4_216
TR G 060 4_250
TR G 060 4_280
TR G 060 4_350
TR G 060 4_400
TR G 060 4_500
TR G 060 4_700
TR G 060 4_1000

[N]

[arcmin] ’arcginl

@ Bonfiglioli

Tecnoingranaggi 1 g



P TR 080

IS 105.3 (TR 080 1)
129.8 (TR 080 2)
43 154.3 (TR 080 3) 46
6 |4 5
20 | 30 | 5
‘ |
= it o
o el ] L ’O’PD 9 TR0801 | 4.0
m;:) ©f - 0 TR 080 2 4.6
) = = 3 TR0803 | 5.2
= \ \ =
7 7
65 +0.05
15| Al

40B1 ... 110B1

83.5 (TR 080 1)
108 (TR0802)
N5  132.5 (TR0803) 46

N3 5
"2
|
sl 2
[ | i
S N A
=
z D%\ ; . Lﬂﬂé% 9 TR0801 | 4.0
; 7 o Ti® TR0802 | 46
/ < 3 TR0803 | 52
d =
12
Lmax
gi
=5
ol < N | Nt | N2 | N3 | N4 | N5 | Lmax
pus
952 11 12 127 14 - - - - - | 40 | 63 | 80 Max12 | 34 | 40
952 11 12 127 - - - - — - | 45 | 63 | 80 M4x12 | 34 | 40
952 11 12 127 14 - - - - - | 50 | 65 | 80 M5x16 | 34 | 40
952 11 12 127 14 - - - — - | 50 | 65 | 80 55 | 34 | 40
952 11 12 127 14 - - - - - | 50 | 70 | 80 M4x10 | 34 | 40
952 11 12 127 14 - - - - - | 50 | 95 | 80 M6x20 | 34 | 40
952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 M6x20 | 34 | 40
952 11 12 127 14 - - - - - | 60 | 75 | 80 M5x16 | 34 | 40
952 11 12 127 14 - - - - - |60 | 75 | 9 65 | 34 | 40
952 11 12 127 14 15875 16 - - - | 60 | 85 | 80 M5x16 | 34 | 40
952 11 12 127 14 15875 16 - - - | 60 | 90 | 80 M5x16 | 34 | 40

952 11 12 127 14 15875 16 17 19 19.05| 70 85 80
952 11 12 127 14 15875 16 17 19 19.05| 70 85 90
952 11 12 127 14 15875 16 17 19 19.05| 70 90 80
952 11 12 127 14 = = = = = 73 98.4 85
952 11 12 127 14 15875 16 17 19 19.05| 80 100 90
952 11 12 127 14 15875 16 17 19 19.05| 95 115 100
952 11 12 127 14 15875 16 17 19 19.05| 95 130 115
952 11 12 127 14 15875 16 17 19 19.05| 110 130 115
952 11 12 127 14 15875 16 17 19 19.05| 110 145 120
952 11 12 127 14 15875 16 17 19 19.05| 110 145 120

M6x20 34 40

6.5 34 40
M5x16 34 40
M5x16 34 40
M6x16 34 40
M8x20 34 40
M8x20 34 40
M8x20 34 40
M8x20 44 50
M8x20 54 60

© 0 0 O O 0 0 O O 0 0 O 0 0 0 O W 0 0 o
© © © © © © © © © © © © © © © © © © © ©O ©
o o

@ Bonfiglioli

20 Tecnoingranaggi



“TR080 DM

FM
L1
L3 L2
J
5 R i e ===~
- 7 a
0%, ')
g @
D (\’ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 10.5
11 12 12.7 43 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 12,5
14 15.875 16 17 48 68 76.5 M6x12 M6 32.2 26.3 915 19.3 14.5
19 19.05 51 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 16.5
T M M M (of R R A elea
N n2 a2 2 N1 max t 1 max 2 max 2 max
\‘h&“l p Ps | @r n g
i INm] [Nm] [Nm] [min] [arcmin] [ag:m] NN OINOIN % 8..12.7  14..19.05
TR 0801_3 40 80 180 3500 6} 3' 8.0 400 2500 | 3000 97 0.50 0.59
TR 080 1_4 50 80 200 4500 & & 8.0 400 2500 | 3000 97 0.34 0.43
TR 080 1_5 50 80 200 4500 o & 8.0 400 2500 | 3000 97 0.28 0.37
TR 080 1_6 50 80 200 4500 5' & 8.0 400 2500 | 3000 97 0.21 0.30
TR 0801_7 50 80 200 6000 o & 8.0 400 2500 | 3000 97 0.23 0.32
TR 080 1_10 40 80 180 6000 5 & 8.0 400 2500 | 3000 97 0.20 0.29
TR 080 2_9 40 80 180 3500 ol & 6.5 400 2500 | 3000 94 0.49 0.58
TR 080 2_12 70 100 250 3500 o} & 6.5 400 2500 | 3000 94 0.47 0.56
TR 080 2_15 70 100 250 3500 & & 6.5 400 2500 | 3000 94 0.46 0.55
TR 080 2_16 70 100 250 4500 5} &' 6.5 400 2500 | 3000 94 0.32 0.41
TR 080 2_20 70 100 250 4500 & 3' 6.5 400 2500 | 3000 94 0.27 0.36
TR 080 2_25 70 100 250 4500 & & 6.5 400 2500 | 3000 94 0.27 0.36
TR 080 2_28 70 100 250 6000 o & 6.5 400 2500 | 3000 94 0.22 0.31
TR 080 2_30 40 80 180 6000 5' & 6.5 400 2500 | 3000 94 0.20 0.29
TR 080 2_35 70 100 250 6000 o & 6.5 400 2500 | 3000 94 0.22 0.31
TR 080 2_36 50 80 200 4500 o & 6.5 400 2500 | 3000 94 0.20 0.29
TR 080 2_40 70 100 250 6000 5 & 6.5 400 2500 | 3000 94 0.20 0.29
TR 080 2_50 70 100 250 6000 o} & 6.5 400 2500 | 3000 94 0.19 0.28
TR 080 2_70 70 100 250 6000 & & 6.5 400 2500 | 3000 94 0.19 0.28
TR 080 2_100 40 80 180 6000 &) 3' 6.5 400 2500 | 3000 94 0.19 0.28
TR 080 3_48 70 100 250 4500 7 5’ 515 400 2500 | 3000 91 0.33 0.42
TR 080 3_64 70 100 250 4500 7' o 8.5 400 2500 | 3000 91 0.32 0.41
TR 080 3_75 70 100 250 4500 7 o Oio) 400 2500 | 3000 91 0.27 0.36
TR 080 3_80 70 100 250 4500 7' 5} 85 400 2500 | 3000 91 0.32 0.41
TR 080 3_84 70 100 250 6000 7' & 5.5 400 2500 | 3000 91 0.23 0.32
TR 080 3_90 40 80 180 6000 7' & 55 400 2500 | 3000 9N 0.20 0.29
TR 080 3_120 70 100 250 6000 7 5} 5.5 400 2500 | 3000 91 0.20 0.29
TR 080 3_125 70 100 250 4500 7 & 55 400 2500 | 3000 91 0.27 0.36
TR 080 3_140 70 100 250 6000 7' o DS 400 2500 | 3000 91 0.22 0.31
TR 080 3_150 70 100 250 6000 7' 5 585 400 2500 | 3000 91 0.20 0.29
TR 080 3_160 70 100 250 6000 7' o B85 400 2500 | 3000 91 0.20 0.29
TR 080 3_175 70 100 250 6000 7' & 8.5 400 2500 | 3000 91 0.22 0.31
TR 080 3_200 70 100 250 6000 7 & 5.5 400 2500 | 3000 91 0.20 0.29
TR 080 3_210 70 100 250 6000 7' 5 5.5 400 2500 | 3000 91 0.20 0.29
TR 080 3_216 70 100 250 4500 7' 6} 5.5 400 2500 | 3000 9 0.20 0.29
TR 080 3_250 70 100 250 6000 7 5} 55 400 2500 | 3000 91 0.19 0.28
TR 080 3_280 70 100 250 6000 7 5' 515 400 2500 | 3000 91 0.19 0.28
TR 080 3_350 70 100 250 6000 7 5' IS 400 2500 | 3000 91 0.19 0.28
TR 080 3_400 70 100 250 6000 7' o DS 400 2500 | 3000 91 0.19 0.28
TR 080 3_500 70 100 250 6000 7' 5 515 400 2500 | 3000 91 0.19 0.28
TR 080 3_700 70 100 250 6000 7' o B85 400 2500 | 3000 91 0.19 0.28
TR 080 3_1000 [:i0] 80 180 6000 7' & 8.5 400 2500 | 3000 91 0.19 0.28

@ Bonfiglioli

Tecnoingranaggi 2 1



TR G 080

40B1 ... 110B1

2
5
> Q
- &
~
o TRGO0802 | 52
© & e} TRGO0803 | 58
S N o TRGO0804 | 64
168,08 (lncosy o M6x12
38.25 192.55 (TR G 080 4) 46

Sy

(e _ =

;] // . \

/ /f©\\ ‘\

\ \\\kj// /

&

N2
N1
ol R N | Nt | N2 | N3 | N4 | N5 | Lmax
<P

40B1 8 9 952 1 12 127 14 - - - — — | 40 | 63 | 80 | 4 | M4x12 | 34 | 40
45A 8 9 952 1 12 127 - - - — — — | 45 | 63 | 8 | 4 | M4x12 | 34 | 40
50B1 8 9 952 11 12 127 14 - - - - — | 50 | 65 | 8 | 4 | M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - - — | 5 | 65 | 8 | 4 55 34 | 40
50C1 8 9 952 M 12 127 14 - - - - - | 50 | 70 | 80 | 4 | M4x10 | 34 | 40
50D 8 9 95 1 12 127 14 - - - - - | 50 | 95 | 80 | 4 | Méx20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 | 4 | M6x20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - - - - | 60 | 75 | 8 | 4 | M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - — — |60 | 75 | 90 | 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 8 | 8 | 4 | M5x16 | 34 | 40
60C1 8 9 952 1 12 127 14 15875 16 - - — | 60 | 90 | 80 | 4 | M5x16 | 34 | 40
70A1 8 9 952 1 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 | 4 | Méx20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 8 | 90 | 4 6.5 34 | 40
70B1 8 9 952 1 12 127 14 15875 16 17 19 19.05| 70 | 90 | 80 | 4 | M5x16 | 34 | 40
73A1 8 9 952 11 12 127 14 - - - - - | 73 | 984 | 8 | 4 | M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 | 4 | Méx16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
1108 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 54 | 60

@ Bonfiglioli

22 Tecnoingranaggi



TR G 080

FM -
N 03
N N
QO .
N View from Q
S a5 24T
Dl
I
bl {5 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | M6x12 | M6 322 | 263 9.5 19.3 105
1 12 12.7 43 68 765 | M6x12 | M6 322 | 263 9.5 19.3 12.5
14 15875 16 17 48 68 765 | M6x12 | M6 322 | 263 9.5 19.3 145
19 19.05 51 68 765 | M6x12 | M6 322 | 263 9.5 19.3 16.5

@ t LLLEDS max
m- : Ps  OPr © R> Az

arcginl [N] [N]

[arcmin] ’
TRG0802_3
TR G 0802_4
TRG 0802 5
TRG 0802 6
TRG 0802 7
TR G 080 2_10
TRG 0803 9
TR G 080 3_12
TR G 080 3_15
TR G 080 3_16
TR G 080 3_20
TR G 080 3_25
TR G 080 3_28
TR G 080 3_30
TR G 080 3_35
TR G 080 3_36
TR G 080 3_40
TR G 080 3_50
TR G 080 3_70
TR G 080 3_100
TR G 080 4_48
TR G 080 4_64
TR G 080 4_75
TR G 080 4_80
TR G 080 4_84
TR G 080 4_90
TR G 080 4_120
TR G 080 4_125
TR G 080 4_140
TR G 080 4_150
TR G 080 4_160
TR G 080 4_175
TR G 080 4_200
TR G 080 4_210
TR G 080 4_216
TR G 080 4_250
TR G 080 4_280
TR G 080 4_350
TR G 080 4_400
TR G 080 4_500
TR G 080 4_700
TR G 080 4_1000

@® Bonfiglioli

Tecnoingranaggi 23



TR MB 080

40B1 ... 110B1 20 64
2 _ |
95 R
q 20 h7 ©
N5 o iy
J_&‘fl_‘ N3 I T |
Y | i g
So———6 | 9 ¢
e .
R 1— ‘ﬁfﬁ!ﬁf*h zlof —f———— 1 7,7{,+,7,,,£ © 3R
| | C | 2L
[Ye] L -
gle o | o o
~ | |
N T ‘ T
| Lne | LR [
—d 0 p—‘r
22,5 80 o 20 h7 ©
\ 95 L 42
149.5 (TR MB 080 2)
174 (TR MB 080 3)
198.5 (TR MB 080 4)
22
[ce]
S - 3 & TRMB 0802 | 14.0
8 © TRMB 0803 | 15.0
N TRMB 0804 | 16.0
|
M8
14
ol < N | Nt | N2 | N3 | N4 | N5 | Lmax
pus
40B1 8 9 952 11 12 127 14 - = = = = 40 | 63 80 4 M4x12 | 34 | 40
45A 8 9 952 11 12 127 - - - - - - 45 | 63 80 4 M4x12 | 34 | 40
50B1 8 9 952 11 12 127 14 - = = = = 50 65 80 4 M5x16 | 34 | 40
50BH1 | 8 9 952 11 12 127 14 - - - - - 50 65 80 4 55 34 | 40
50C1 8 9 952 11 12 127 14 - = = = = 50 70 80 4 M4x10 | 34 | 40
50D 8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 | 4 M6x20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 | 80 4 M5x16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - = = = = 60 | 75 | 90 4 6.5 34 | 40
60B1 8 9 952 M 12 127 14 15875 16 - - - 60 | 85 | 80 4 M5x16 | 34 | 40
60C1 8 9 952 M 12 127 14 15875 16 - - - 60 | 90 | 80 4 M5x16 | 34 | 40
70A1 8 9 952 1 12 127 14 15875 16 17 19 19.05| 70 | 85 | 80 4 M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 | 90 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 | 34 | 40
73A1 8 9 952 11 12 127 14 - = = = = 73 | 984 | 85 4 M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 4 M6éx16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 4 M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 4 M8x20 | 34 | 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 6.5 | M8x20 | 44 50
10B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

@ Bonfiglioli

24 Tecnoingranaggi



TR MB 080 o9

L1
L3 L2
A [
~— N
al [l el I~
a
8\
/T
D (\’ y D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 10.5
11 12 12.7 43 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 12.5
14 15.875 16 17 48 68 76.5 M6x12 M6 32.2 26.3 9i5 19.3 14.5
19 19.05 51 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 16.5

Mmax @Ps Qg

Nm
[min-1] [arcmin] [arcminl 9 14 ...19.05

TR MB 080 2_3
TR MB 080 2_4
TR MB 080 2_5
TR MB 080 2_6
TR MB 080 2_7
TR MB 080 2_10
TR MB 080 3_9
TR MB 080 3_12
TR MB 080 3_15
TR MB 080 3_16
TR MB 080 3_20
TR MB 080 3_25
TR MB 080 3_28
TR MB 080 3_30
TR MB 080 3_35
TR MB 080 3_36
TR MB 080 3_40
TR MB 080 3_50
TR MB 080 3_70
TR MB 080 3_100
TR MB 080 4_48
TR MB 080 4_64
TR MB 080 4_75
TR MB 080 4_80
TR MB 080 4_84
TR MB 080 4_90
TR MB 080 4_120
TR MB 080 4_125
TR MB 080 4_140
TR MB 080 4_150
TR MB 080 4_160
TR MB 080 4_175
TR MB 080 4_200
TR MB 080 4_210
TR MB 080 4_216
TR MB 080 4_250
TR MB 080 4_280
TR MB 080 4_350
TR MB 080 4_400
TR MB 080 4_500
TR MB 080 4_700
TR MB 080 4_1000

@ Bonfiglioli

Tecnoingranaggi 25



TR 105

IS 121.3 (TR 105 1)
153.8 (TR 105 2)
47 186.3 (TR 105 3) 57.5
5 .4 1.5
30 | 3 | 5
|
~[f N~ &
== e ] i 77;? g TR1051 | 6.5
'\ig 0 AN~ TR 1052 8.5
g = S TR1053 | 10.5
85+0.05 7 ‘ ‘ U =
12 ls

50D ... 130A1

107.5 (TR 105 1)
140 (TR1052)
N5 172.5 (TR1053) 57.5

5
2
35, 1.5 &
: ‘ ‘:f'E =g TR1051 | 65
i 6| o2 .
o] N~ TR1052 | 85
=] & TR1053 | 10.5
15 =

D:@, N | Nt | N2 | N3 | N& | N5 | Lmax
1 12 127 14 15 15875 16 19 - - - — | 50 | 95 | 100 | 5 | Méx14 | 28 | 40
1 12 127 14 15 15875 16 19 - - - — | 55 |1257| 105 | 5 | Méx16 | 28 | 40
M 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 65 | Ms5x14 | 28 | 40
M 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 4 65 | 33 | 40
1 12 127 14 15 15875 16 19 - - - — | 60 | 85 | 100 | 65 | M5x14 | 28 | 40
1 12 127 14 15 15875 16 19 - - - — | 70 | 85 | 100 | 65 | Méx14 | 28 | 40
1 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 4 65 | 33 | 40
1 12 127 14 15 15875 16 19 - - - — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
1 12 127 14 15 15875 16 19 - - - — | 8 | 100 | 100 | 65 | Méx16 | 28 | 40
1 12 127 14 15 15875 16 19 - - - — | 8 | 100 | 100 | 4 65 | 33 | 40
M 12 127 14 15 15875 16 19 - — - — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
11 12 127 14 15 15875 16 19 22 24 - — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
1 12 127 14 15 15875 16 19 - — - — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
11 12 127 14 15 15875 16 19 - - — — | 110 | 130 | 115 | 65 | Msx18 | 28 | 40
1 12 127 14 15 15875 16 19 22 24 - — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
1 12 127 14 15 15875 16 19 22 24 28 - | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
11 12 127 14 15 15875 16 19 22 24 28 32 | 130 | 165 | 140 | 65 | M10x25 | 48 | 60

@ Bonfiglioli

26 Tecnoingranaggi



FM

L1
L3 L2
5 SRR e o =1
- 7 o

D (C D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 12.7 43 90 98 M6x15 M6 31.5 19.5 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 31.5 19.5 7.6 12 14.5
19 il 90 98 M6x15 M6 31.5 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 M6 35 23 7.6 12 19
28 67 90 98 M6x15 M8 35 23 7.6 14 225
32 71 90 98 M6x15 M8 37 25 7.6 16 24.5

Nimax Qs Or (of} Rimax R2max A2max 1

Nm
[min-1]  [arcmin] [arcminl ]| [N] [N] 11...12.7 14..19 22-24 28-32

TR1051_3
TR1051_4
TR1051_5
TR1051_6
TR 1051_7
TR1051_10
TR 1052_9
TR 1052_12
TR 105 2_15
TR 105 2_16
TR 105 2_20
TR 105 2_25
TR 105 2_28
TR 105 2_30
TR 105 2_35
TR 105 2_36
TR 105 2_40
TR 105 2_50
TR 105 2_70
TR 105 2_100
TR 105 3_48
TR 105 3_64
TR 105 3_75
TR 105 3_80
TR 105 3_84
TR 105 3_90
TR 105 3_120
TR 105 3_125
TR 105 3_140
TR 105 3_150
TR 105 3_160
TR 105 3_175
TR 105 3_200
TR 105 3_210
TR 105 3_216
TR 105 3_250
TR 105 3_280
TR 105 3_350
TR 105 3_400
TR 105 3_500
TR 105 3_700
TR 105 3_1000

@ Bonfiglioli

Tecnoingranaggi 27



TR G 105

50D ... 130A1

2
zZ
o 1
b4
5
N
NN 98 &
© ~
—+-—- b —- —8——— He-—- ﬁé TRG1052 | 85
~ ~
© Q = TRG1053 | 105
N w TRG1054 | 125
170.3 (TRG 105 2) ‘L
202.8 (TR G 105 3) _M8x15
49 235.3 (TR G 105 4) 57.5
M—j«
® L&
| 2 A
/N N A
| f(§\ |
\\ \\KJ ’/ /’
N\ 7 )
.-
N2
N1
| I
D| (R N N1 N2 N3 N4 N5 Lmax
<
50D 11 12 127 14 15 15875 16 19 - - - - 50 95 100 5 M6x14 28 40
55A 11 12 127 14 15 15875 16 19 - - - - 55 | 125.7 | 105 5 M6x16 28 40
60A2 11 12 127 14 15 15875 16 19 - - - - 60 75 100 6.5 M5x14 28 40
60AH2 11 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
60B1 11 12 127 14 15 15875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
70A1 11 12 127 14 15 15875 16 19 - - - - 70 85 100 6.5 M6x14 28 40
70AH1 11 12 127 14 15 15875 16 19 - - - - 70 85 100 4 6.5 33 40
70B1 11 12 127 14 15 15875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
80A1 1 12 127 14 15 15875 16 19 - - - - 80 100 100 6.5 M6x16 28 40
80AH1 11 12 127 14 15 15875 16 19 - - - - 80 100 100 4 6.5 33 40
95A 11 12 127 14 15 15875 16 19 - - - - 95 115 100 6.5 M8x18 28 40
95A1 1 12 127 14 15 15875 16 19 22 24 - - 95 115 100 6.5 M8x18 38 50
95B 11 12 127 14 15 15875 16 19 - - - - 95 130 115 6.5 M8x18 28 40
110A 1 12 127 14 15 15875 16 19 - - - - 110 130 115 6.5 M8x18 28 40
110A1 11 12 127 14 15 15875 16 19 22 24 — - 110 130 115 6.5 M8x20 38 50
110B 11 12 127 14 15 15875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
110B1 11 12 127 14 15 15875 16 19 22 24 28 - 110 145 120 6.5 M8x20 48 60
130A 11 12 127 14 15 15875 16 19 22 24 - - 130 165 140 6.5 | M10x20 38 50
130A1 1 12 127 14 15 15875 16 19 22 24 28 32 | 130 165 140 6.5 | M10x25 48 60

@ Bonfiglioli

28 Tecnoingranaggi



TR G 105

FM -
N N 3
N N
O :
Ds L5 View from Q
s e 95 -
D]
/':,
D (\— - D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 | M6 315 19.5 76 12 125
14 15 15.875 16 48 90 98 M6x15 | M6 315 19.5 76 12 14.5
19 51 90 98 M6x15 | M6 315 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 | M6 35 23 76 12 19
28 67 90 98 Méx15 | M8 35 23 76 14 22,5
32 71 90 98 M6x15 | M8 37 25 7.6 16 245

Nmax @s @Qr (of} R2 max A2 max

Nm
[min-1]  [arcmin] [m] [N] [N] 1..127 14..19 22-24 28-32

TRG 1052_3
TR G 1052_4
TRG1052_5
TR G 1052_6
TRG1052_7
TR G 1052_10
TRG 1053 9
TR G 105 3_12
TR G 1053_15
TR G 1053_16
TR G 105 3_20
TR G 1053_25
TR G 105 3_28
TR G 105 3_30
TR G 105 3_35
TR G 105 3_36
TR G 105 3_40
TR G 105 3_50
TR G 105 3_70
TR G 105 3_100
TR G 105 4_48
TR G 105 4_64
TR G 105 4_75
TR G 105 4_80
TR G 105 4_84
TR G 105 4_90
TR G 105 4_120
TR G 105 4_125
TR G 105 4_140
TR G 105 4_150
TR G 105 4_160
TR G 105 4_175
TR G 105 4_200
TR G 105 4_210
TR G 105 4_216
TR G 105 4_250
TR G 105 4_280
TR G 105 4_350
TR G 105 4_400
TR G 105 4_500
TR G 105 4_700
TR G 105 4_1000

@ Bonfiglioli

Tecnoingranaggi 29



TR MB 105

50D ... 130A1

25 95
58 \
~—=
144 © 32h7 w©
| | N5 @ e ®
J_&‘fl_‘ N3 i |
Y10 } O = ©
| \ &
e g ah
\ : \ |
8 el | o (sEER
o i
dle s —+ o T o
N ‘ |
o !
Lmax R
| IEREE [
El " :‘ T LD_ ‘u.u—v—
325 95 = o 32 h7 ©
\ 144 — | ‘ 58
195 (TRMB1052)
227.5 (TRMB 105 3)
260 (TRMB 1054)
34
i &
R TRMB1052 | 32
Q TR MB 105 3 34
TR MB 105 4 36
124 |
15 145
| B
D (<F N N1 N2 N3 N4 N5 Lmax
-
50D 1 12 127 14 15 15875 16 19 — — — — 50 95 100 5 M6x14 28 40
55A " 12 127 14 15 15875 16 19 - - - - 55 125.7 | 105 5 M6x16 28 40
60A2 1 12 127 14 15 15875 16 19 - - - - 60 75 100 6.5 M5x14 28 40
60AH2 1" 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
60B1 1 12 127 14 15 15875 16 19 — — — — 60 85 100 6.5 M5x14 28 40
70A1 " 12 127 14 15 15875 16 19 — — - — 70 85 100 6.5 M6x14 28 40
70AH1 1" 12 127 14 15 15875 16 19 — — - — 70 85 100 4 6.5 88 40
70B1 1 12 127 14 15 15875 16 19 — — - — 70 90 100 6.5 M5x12 28 40
80A1 1" 12 127 14 15 15875 16 19 - - - - 80 100 100 6.5 M6x16 28 40
80AH1 1" 12 127 14 15 15875 16 19 - - - - 80 100 100 4 6.5 33 40
95A 1 12 127 14 15 15875 16 19 - - - — 95 115 100 6.5 M8x18 28 40
95A1 1 12 127 14 15 15875 16 19 22 24 - — 95 115 100 6.5 M8x18 38 50
95B 1 12 127 14 15 15875 16 19 - — - — 95 130 115 6.5 M8x18 28 40
110A 1" 12 127 14 15 15875 16 19 — - - — 110 130 115 6.5 M8x18 28 40
110A1 1" 12 127 14 15 15875 16 19 22 24 - — 110 130 115 6.5 M8x20 38 50
110B 1" 12 127 14 15 15875 16 19 22 24 - — 110 145 120 6.5 M8x20 38 50
110B1 1 12 127 14 15 15875 16 19 22 24 28 - 110 145 120 6.5 M8x20 48 60
130A 1 12 127 14 15 15875 16 19 22 24 — - 130 165 140 6.5 M10x20 38 50
130A1 1" 12 127 14 15 15875 16 19 22 24 28 32 130 165 140 6.5 M10x25 48 60
Bonfiglioli
30 ® g

Tecnoingranaggi



TR MB 105 o9

L1
L3 L2
A [
~— N
(] OB B 7 B 7
[m]
(i ©
e
—
D, X D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 127 3 90 98 | Moxi5 | M6 | 315 | 195 | 76 12 | 125
14 15 15875 16 48 90 98 | Mex15 | M6 | 315 | 195 | 76 12 | 145
19 51 90 98 | Mex15 | Me | 315 | 195 | 76 12 | 165
22 24 565 | 90 98 | Mex15 | M6 35 23 76 12 19
28 67 90 98 | Mex15 | M8 35 23 7.6 14 | 225
32 71 90 98 | Méx15 | M8 37 25 7.6 16| 245

.‘(‘\\ﬁ v @
/O
: : farcmin] [%] % 11..127 14..19

TR MB 105 2_3
TR MB 1052_4
TR MB 1052_5
TR MB 105 2_6
TR MB 105 2_7
TR MB 105 2_10
TR MB 105 3_9
TR MB 105 3_12
TR MB 105 3_15
TR MB 105 3_16
TR MB 105 3_20
TR MB 105 3_25
TR MB 105 3_28
TR MB 105 3_30
TR MB 105 3_35
TR MB 105 3_36
TR MB 105 3_40
TR MB 105 3_50
TR MB 105 3_70
TR MB 105 3_100
TR MB 105 4_48
TR MB 105 4_64
TR MB 105 4_75
TR MB 105 4_80
TR MB 105 4_84
TR MB 105 4_90
TR MB 105 4_120
TR MB 105 4_125
TR MB 105 4_140
TR MB 105 4_150
TR MB 105 4_160
TR MB 105 4_175
TR MB 105 4_200
TR MB 105 4_210
TR MB 105 4_216
TR MB 105 4_250
TR MB 105 4_280
TR MB 105 4_350
TR MB 105 4_400
TR MB 105 4_500
TR MB 105 4_700
TR MB 105 4_1000

@ Bonfiglioli

Tecnoingranaggi 3 1



P TR 130

IS 151.2 (TR 130 1)
190.7 (TR1302)
57.5 230.2 (TR 1303) 69.5
5 15 7
35 | 50 | 3
\ T
™~ NI~ &
ﬁtﬁ B+ ————— i ﬁﬁg & TR1301 | 12.0
NT@ | TR1302 | 155
S = ‘ § TR1303 | 185
s
110+0.05 14 15 =2 110 £0.05
20| 1l

55A1 ... 180A1

126 (TR1301)
165.5 (TR 130 2)
205 (TR1303) 69.5

05
8

25013 &

| -'E}EI-E ®
=L TR1301 | 12.0
NI TR1302 | 155
] & TR1303 | 185

20 =
o 1R N | N1 | N2 | N3 N4 | N5 | Lma
SS%

55A1 | 14 15875 16 19 - - - - - - [ 555 |1257 | 130 | 4 | M6x15 | 395 | 50
80A2 | 14 15875 16 19 - - - - - - | 8 | 100 | 130 | 4 | Méx15 | 395 | 50
95A1 | 14 15875 16 19 22 24 - - - - | 95 | 115 | 130 | 4 | M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - - - - | 110 | 130 | 130 | 4 | M8x20 | 39.5 | 50
110B1 | 14 15875 16 19 22 24 - - - - | 110 | 145 | 130 | 65 | M8x20 | 495 | 60
14A0 | 14 15875 16 19 22 24 - - - - | 1143 | 200 | 170 | 55 | M12x25 | 395 | 50
14A | 14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 55 | M12x25 | 69.5 | 80
130A | 14 15875 16 19 22 24 - - - - | 130 | 165 | 140 | 4 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 4 | M10x20 | 495 | 60
180A | 14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 55 | M14x25 | 49.5 | 60
180A1 | 14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

@ Bonfiglioli

32 Tecnoingranaggi



TR 130 M

L1
L3 L2
5 S o e AR 1=
- 7 o
0
8y
7D
D (\ 3 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 125.5 M8x15 M6 40 27.5 6 20 14.5
19 51 113 125.5 M8x15 M6 40 27.5 6 20 16.5
22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 28.5 6 19.5 22.5
32 71 113 125.5 M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 125.5 M8x15 M8 50 37.5 11.25 26 26
38 77.5 113 125.5 M8x15 M8 50 37.5 11.25 26 28

Jg [kgem?]

NS
m‘ Nimax @Ps PR Ct  Rimax R2max A2max
S
i

Nm
[min-1]  [arcmin] [arcminl N] [N] [N] 14..19 22-24 28-32 35-38

TR1301_3
TR1301_4
TR1301_5
TR1301_6
TR1301_7
TR1301_10
TR1302_9
TR1302_12
TR 1302_15
TR 130 2_16
TR 130 2_20
TR 130 2_25
TR 130 2_28
TR 130 2_30
TR 130 2_35
TR 130 2_36
TR 130 2_40
TR 130 2_50
TR 130 2_70
TR 130 2_100
TR 130 3_48
TR 130 3_64
TR 130 3_75
TR 130 3_80
TR 130 3_84
TR 130 3_90
TR 130 3_120
TR 1303_125
TR 130 3_140
TR 130 3_150
TR 130 3_160
TR 130 3_175
TR 130 3_200
TR 130 3_210
TR 130 3_216
TR 130 3_250
TR 130 3_280
TR 130 3_350
TR 130 3_400
TR 130 3_500
TR 130 3_700
TR 130 3_1000

@ Bonfiglioli

Tecnoingranaggi 33



TR G 130

55A1 ... 180A1

v
z
1 3
0
/‘ s &
J N~
'=
u s TRG1302 | 16.0
\ o ~F% TRG1303 | 195
[To] © [l - &
© B TRG1304 | 225
‘ 213.2
110 £0.05 9527 (1R @ 130 3 ’L M12x20
124 62 292.2 (TR G 130 4) 69.5 |
N4_
® _l._ =
/| 7 |
L)L
\\ \\ KJ ’//
AN 7 )
5 5
N2
N1
o R N N1 | N2 | N3 N4 N5 | Lmax
pus
14 15875 16 19 - - - - - — | 555 |1257| 130 4 Méx15 | 395 | 50
14 15875 16 19 - - - - - - 80 | 100 | 130 4 Méx15 | 395 | 50
14 15875 16 19 22 24 - - - - 95 | 115 | 130 4 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - — | 110 | 130 | 130 4 M8x20 | 39.5 | 50
14 15875 16 19 22 24 - - - — | 110 | 145 | 130 | 65 | M8x20 | 495 | 60
14 15875 16 19 22 24 - - - - [1143| 200 | 170 | 55 | M12x25 | 39.5 | 50
14 15875 16 19 22 24 28 32 35 38 1143 | 200 | 170 | 55 | M12x25 | 69.5 | 80
14 15875 16 19 22 24 - - -  — | 130 | 165 | 140 4 | M10x20 | 395 | 50
14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 4 | M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 69.5 | 80

@ Bonfiglioli

34 Tecnoingranaggi



TR G 130

FM -
N N3
R N
A JLY, ;
N View from Q
S N5 b4
D!
/ -
D (\— - D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 | M8x15 M6 40 275 6 20 14.5
19 51 113 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 1255 | M8x15 M6 41 28.5 6 19.5 19
28 67 113 1255 | M8x15 M8 41 28.5 6 19.5 225
32 71 113 1255 | M8x15 M8 41 285 6 19.5 245
35 73 113 1255 | M8x15 M8 50 37.5 11.25 26 26
38 775 113 1255 | M8x15 M8 50 375 11.25 26 28

Nimax Qs Qr Ct R2max A2max M

Nm
[min-1]  [arcmin] [m] [N] [N] 14..19 22-24 28-32 35-38

TRG 130 2_3
TRG 130 2_4
TRG1302_5
TR G 130 2_6
TRG1302_7
TR G 130 2_10
TRG 1303_9
TR G 130 3_12
TR G 130 3_15
TR G 130 3_16
TR G 130 3_20
TR G 130 3_25
TR G 130 3_28
TR G 130 3_30
TR G 130 3_35
TR G 130 3_36
TR G 130 3_40
TR G 130 3_50
TR G 130 3_70
TR G 130 3_100
TR G 130 4_48
TR G 130 4_64
TR G 130 4_75
TR G 130 4_80
TRG 130 4_84
TR G 130 4_90
TR G 130 4_120
TR G 130 4_125
TR G 130 4_140
TR G 130 4_150
TR G 130 4_160
TR G 130 4_175
TR G 130 4_200
TR G 130 4_210
TR G 130 4_216
TR G 130 4_250
TR G 130 4_280
TR G 130 4_350
TR G 130 4_400
TR G 130 4_500
TR G 130 4_700
TR G 130 4_1000

@ Bonfiglioli

Tecnoingranaggi 35



TR MB 130

55A1 ... 180A1

37.5 100
75 \
>
172 o 2h7 ©
| | N5 @ e
Y J_&ffl_‘ N3 I S |
2 } O = ©
777\ o T} ‘ S
O — & o @ o
col e -
= R R — Rr N J,L,i,,, o o | oy
= — ‘ ‘ z QT C 1 | 28 & &
0 7
R Ik E o |l o
q Bl
| Ly [ L [
B — o =+
42.5 100 ] ® 42 h7 ©
\ 172 =1 75
233.5 (TRMB 130 2)
273 (TRMB1303)
312.5 (TRMB 130 4)
47
@ | v
- - Q38 TRMB 1302 | 54
O o TRMB1303 | 58
'c;- TR MB 130 4 61
! T
M12 L 875,
145 ‘
20 175
ol N N1 | N2 | N3 N4 N5 | Lmax
pus
14 15875 16 19 — - — — - - 55.5 | 125.7 130 4 M6x15 39.5 50
14 15875 16 19 — - — - - - 80 100 130 4 M6x15 39.5 50
14 15875 16 19 22 24 — - — - 95 115 130 4 M8x20 39.5 50
14 15.875 16 19 22 24 — - - - 110 130 130 4 M8x20 39.5 50
14 15.875 16 19 22 24 — - — - 110 145 130 6.5 M8x20 49.5 60
14 15.875 16 19 22 24 — - — - 114.3 200 170 55 M12x25 39.5 50
14 15.875 16 19 22 24 28 32 85 38 114.3 200 170 515 M12x25 69.5 80
14 15875 16 19 22 24 - - - - 130 165 140 4 M10x20 39.5 50
14 15875 16 19 22 24 28 32 - - 130 165 140 4 M10x20 49.5 60
14 15875 16 19 22 24 28 32 - - 180 215 190 55 M14x25 49.5 60
14 15875 16 19 22 24 28 32 35 38 180 215 190 5.5 M14x25 | 69.5 80
@ Bonfiglioli

Tecnoingranaggi




TR MB 130 o9

L1
L3 L2
A [
~— N
[ ] o 2 B 7 B 7
[m)]
(i ©
RAIT!
7D
mEs, D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15875 16 48 T3 | 1255 | Mexi5 | M6 20 | 215 6 20 145
19 51 13 | 1255 | M8x15 | M6 40 | 215 6 20 165
22 24 565 | 13 | 1255 | M8x15 | M6 41 285 6 195 19
28 67 13 | 1255 | M8x15 | M8 41 285 6 195 | 225
32 71 13 | 1255 | Mex15 | M8 41 285 6 195 | 245
35 73 13 | 1255 | M8x15 | M8 50 | 375 | 1125 | 26 26
38 775 | 13 | 1255 | Msx15 | w8 50 | 375 | 1125 | 26 28

Ps  9r

Nm
[arcmin]

arominl 14..19 22-24  28-32
TR MB 130 2_3
TR MB 130 2_4
TR MB 130 2_5
TR MB 130 2_6
TR MB 130 2_7
TR MB 130 2_10
TR MB 130 3_9
TR MB 130 3_12
TR MB 130 3_15
TR MB 130 3_16
TR MB 130 3_20
TR MB 130 3_25
TR MB 130 3_28
TR MB 130 3_30
TR MB 130 3_35
TR MB 130 3_36
Y CREVER
TR MB 130 3_50
TR MB 130 3_70
TR MB 130 3_100
TR MB 130 4_48
TR MB 130 4_64
TR MB 130 4_75
TR MB 130 4_80
TR MB 130 4_84
TR MB 130 4_90
TR MB 130 4_120
TR MB 130 4_125
TR MB 130 4_140
TR MB 130 4_150
TR MB 130 4_160
TR MB 130 4_175
TR MB 130 4_200
TR MB 130 4_210
TR MB 130 4_216
TR MB 130 4_250
TR MB 130 4_280
TR MB 130 4_350
TR MB 130 4_400
TR MB 130 4_500
TR MB 130 4_700
TR MB 130 4_1000

@ Bonfiglioli

Tecnoingranaggi 37



P TR 160

IS 155.2 (TR 160 1)
194.7 (TR 160 2)
61.5 234.2 (TR 160 3) 98
2.25 15 14
50 6
T — o)
éﬁP SE 0 TR1601 | 17.0
AL A TR1602 | 21
& & TR1603 | 28
130+0.05 = = 130+ 0.05
B 130 (TR 1601)
169.5 (TR 160 2)
N5 209 (TR1603) 98
N3 14
2
\
|70 L6 &
T» l I | ~i s o
| i —
zo| | =] 5o TR1601 | 17.0
f EV i TR1602 | 21
@ b = %
< = & TR 160 3 28
1 S s
/ 130 £0.05 25
< ‘ [
S5
7| —
=/
o R N N1 | N2 | N3 N4 N5 | Lmax
pus
14 15.875 16 19 - - - - - - 55.5 | 125.7 | 140 5 M6x15 39.5 50
14 15875 16 19 — - - - - - 80 100 140 5 M6x15 39.5 50
14 15.875 16 19 22 24 - - - - 95 115 140 5 M8x20 39.5 50
14 15875 16 19 22 24 - - - - 110 130 140 5 M8x20 39.5 50
14 15.875 16 19 22 24 - - - - 110 145 140 6.5 M8x20 49.5 60
14 15.875 16 19 22 24 28 32 35 38 114.3 | 200 170 6.5 M12x25 | 69.5 80
14 15.875 16 19 22 24 - - - - 130 165 140 5 M10x20 39.5 50
14 15875 16 19 22 24 28 32 - - 130 165 140 5 M10x20 | 49.5 60
14 15.875 16 19 22 24 28 32 - - 180 215 190 6.5 M14x25 | 49.5 60
14 15875 16 19 22 24 28 32 35 38 180 215 190 6.5 M14x25 | 69.5 80

@ Bonfiglioli

Tecnoingranaggi



TR 160 M

L1
L3 L2
5 8 oo l—
' = 7 a
8y
s

D (\' 3 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 142.5 M8x16 M6 40 27.5 6 20 14.5
19 51 130 142.5 M8x16 M6 40 27.5 6 20 16.5
22 24 56.5 130 142.5 M8x16 M6 41 28.5 6 19.5 19
28 67 130 142.5 M8x16 M8 41 28.5 6 19.5 22.5
32 71 130 142.5 M8x16 M8 41 28.5 6 19.5 24.5
35 73 130 142.5 M8x16 M8 50 37.5 11.25 26 26
38 77.5 130 142.5 M8x16 M8 50 SIS 11.25 26 28

Je [kgem?]

N
A ﬂl Mn 2 Nimax Qs @Qr (o} Rimax R2max A2max 1
)
i

[min-1  [arcmin] [arﬂr[‘]nqinl [N] [N] [N] 14...19 22-24 28-32 35-38

TR1601_3
TR 160 1_4
TR1601_5
TR1601_6
TR1601_7
TR1601_10
TR 1602_9
TR 160 2_12
TR 160 2_15
TR 160 2_16
TR 160 2_20
TR 160 2_25
TR 160 2_28
TR 160 2_30
TR 160 2_35
TR 160 2_36
TR 160 2_40
TR 160 2_50
TR 160 2_70
TR 160 2_100
TR 160 3_48
TR 160 3_64
TR 160 3_75
TR 160 3_80
TR 160 3_84
TR 160 3_90
TR 160 3_120
TR 160 3_125
TR 160 3_140
TR 160 3_150
TR 160 3_160
TR 160 3_175
TR 160 3_200
TR 160 3_210
TR 160 3_250
TR 160 3_280
TR 160 3_350
TR 160 3_400
TR 160 3_500
TR 160 3_700
TR 160 3_1000

@ Bonfiglioli

Tecnoingranaggi 39



TR G 160

55A1...180A1

2
zZ
o 1 14,
z T2
151 I (2] 70 6
RS 125 &
Il i~
T} Ind <
|— —t— b —- —8 H--— o TRG1602 | 24
- “,,:’ RS TRG1603 | 28
® = ) TRG1604 | 34
218.2
130 +0.05 5577 (TR & 160 9 L M12x25
137 62 ‘ 297.2 (TR G 160 4) 98 |
M,T
s _L__ =&
{ AL \
/f@\\ ‘\
| \kJ al
\ \\ // //
CN.-$
N2
N1
o <R N N1 | N2 | N3 N4 N5 | Lmax
pus
14 15875 16 19 - - - - - - | 555 1257 | 140 | 5 M6x15 | 395 | 50
14 15875 16 19 - - - - - — | 8 | 100 | 140 | 5 M6x15 | 395 | 50
14 15875 16 19 22 24 - - - - | 95 | 115 | 140 | 5 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - — | 110 | 130 | 140 | 5 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - — | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 65 | M12x25 | 69.5 | 80
14 15875 16 19 22 24 - - - — | 130 | 165 | 140 | 5 | M10x20 | 395 | 50
14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 5 | M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 65 | M14x25 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 65 | M14x25 | 69.5 | 80
@ Bonfiglioli

Tecnoingranaggi



TR G 160

FM -
N N3
N N
QO .
N View from Q
s i DA
Dl
1
D D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 1425 | M8x16 M6 40 275 6 20 145
19 51 130 1425 | M8x16 M6 40 27.5 6 20 16.5
22 24 56.5 130 1425 | M8x16 M6 41 285 6 19.5 19
28 67 130 1425 | M8x16 M8 41 28.5 6 19.5 225
32 71 130 1425 | M8x16 M8 41 285 6 19.5 245
35 73 130 1425 | M8x16 M8 50 375 11.25 26 26
38 775 130 1425 | M8x16 M8 50 375 11.25 26 28

Nimax Qs  QPr Ct R2max A2max M

Nm
[min-1]  [arcmin] [arcmin] [N] [N] 14..19 22-24 28-32 35-38

TR G 160 2_3
TRG1602_4
TRG 16025
TR G 160 2_6
TRG1602_7
TR G 160 2_10
TR G 160 3_9
TR G 160 3_12
TR G 160 3_15
TR G 160 3_16
TR G 160 3_20
TR G 160 3_25
TR G 160 3_28
TR G 160 3_30
TR G 160 3_35
TR G 160 3_36
TR G 160 3_40
TR G 160 3_50
TR G 160 3_70
TR G 160 3_100
TR G 160 4_48
TR G 160 4_64
TR G 160 4_75
TR G 160 4_80
TR G 160 4_84
TR G 160 4_90
TR G 160 4_120
TR G 160 4_125
TR G 160 4_140
TR G 160 4_150
TR G 160 4_160
TR G 160 4_175
TR G 160 4_200
TR G 160 4_210
TR G 160 4_250
TR G 160 4_280
TR G 160 4_350
TR G 160 4_400
TR G 160 4_500
TR G 160 4_700
TR G 160 4_1000

@ Bonfiglioli

Tecnoingranaggi 4 1



TR MB 160

55A1 ... 180A1

37.5 100
75 ‘
—
172 0 42‘h7 ©
N5 © e
by J_&ffl_‘ N3 I S |
2 1 T -t
| o | o | s
N — - —- & i
i | i @ o
o | i I | o N| < o
S - *rﬂ*ﬂ* zo} i —f———— B N R R
‘ 0 | .
oo —t—o | E o i e
o | |
g ‘ ‘
| Lmax | EREE [
_'l:l—f—:’_ = 0 ‘L_u—é—
425 100 ] X 42 h7 ©
\ 172 — | ‘ 75
237.5 (TRMB 160 2)
277 (TRMB 160 3)
316.5 (TR MB 160 4)
47
8 [TolInTe]
o 4t - 28 TRMB1602 | 54
0 © TRMB1603 | 58
5 TRMB 1604 | 61
M12 | . 875
145 ‘
20 175
o <R N N1 | N2 | N3 N4 N5 | Lmax
pus
14 15875 16 19 - - - - - - 55.5 | 125.7 140 5 M6x15 39.5 50
14 15875 16 19 — - — - - - 80 100 140 5 M6x15 39.5 50
14 15875 16 19 22 24 - - - - 95 115 140 5 M8x20 39.5 50
14 15875 16 19 22 24 — - — - 110 130 140 5 M8x20 39.5 50
14 15.875 16 19 22 24 - - - - 110 145 140 6.5 M8x20 49.5 60
14 15.875 16 19 22 24 28 32 35 38 114.3 | 200 170 6.5 M12x25 | 69.5 80
14 15.875 16 19 22 24 — - — - 130 165 140 5 M10x20 | 39.5 50
14 15875 16 19 22 24 28 32 - - 130 165 140 5 M10x20 | 49.5 60
14 15875 16 19 22 24 28 32 - - 180 215 190 6.5 M14x25 | 49.5 60
14 15875 16 19 22 24 28 32 35 38 180 215 190 6.5 M14x25 | 69.5 80
@ Bonfiglioli

Tecnoingranaggi




TR MB 160 o9

L1
L3 L2
A [
~ N
[m)] —rr [m)] 2 B /B A 7
[m]
G %
Ve
/TN
D (<> D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
4 15875 16 48 130 | 1425 | M8xi6 | M6 40 275 6 20 145
19 51 130 | 1425 | M8x16 | M6 40 275 6 20 165
22 24 56.5 130 | 1425 | M8x16 | M6 41 285 6 195 19
28 67 130 | 1425 | M8x16 | M8 41 285 6 195 225
32 71 130 | 1425 | M8xi6 | M8 41 28.5 6 195 245
35 73 130 1425 | M8x16 | Ms 50 375 | 1125 26 26
38 77.5 130 | 1425 | M8x16 | M8 50 375 | 1125 26 28

NS
I Ps | Pr
. i foromin] gl % 1419 22-24  28-32

TR MB 160 2_3
TR MB 160 2_4
TR MB 160 2_5
TR MB 160 2_6
TR MB 160 2_7
TR MB 160 2_10
TR MB 160 3_9
TR MB 160 3_12
TR MB 160 3_15
TR MB 160 3_16
TR MB 160 3_20
TR MB 160 3_25
TR MB 160 3_28
TR MB 160 3_30
TR MB 160 3_35
TR MB 160 3_36
TR MB 160 3_40
TR MB 160 3_50
TR MB 160 3_70
TR MB 160 3_100
TR MB 160 4_48
TR MB 160 4_64
TR MB 160 4_75
TR MB 160 4_80
TR MB 160 4_84
TR MB 160 4_90
TR MB 160 4_120
TR MB 160 4_125
TR MB 160 4_140
TR MB 160 4_150
TR MB 160 4_160
TR MB 160 4_175
TR MB 160 4_200
TR MB 160 4_210
TR MB 160 4_250
TR MB 160 4_280
TR MB 160 4_350
TR MB 160 4_400
TR MB 160 4_500
TR MB 160 4_700
TR MB 160 4_1000

@ Bonfiglioli

Tecnoingranaggi 43



TR 190

55A1 ... 180A1

158.7 (TR 190 1)
210.4 (TR 190 2)

N5  262.1 (TR 190 3) 96
2
60 | 11 B }gf{
I D /,'/ \\ &
@ po— < A\
S =4 18 N\ &) TR1901 | 25
g ~ e Jﬂ TR1902 | 29
| Tig O S—— TR1903 | 34
15 N2
N1
b (<H N | N1 | N2 | N3 N4 N5 | Lmax
S
55A1 14 16 19 - - - _ — |55 1257 140 | 5 | M6x15 | 395 | 50
80A2 |14 16 19 - - - - - — | 8 | 100 | 140 | 5 | Mex15 | 395 | 50
95A1 14 16 19 22 24 - - - - - _— _ | 95 | 115 | 140 | 5 | M8x20 | 395 | 50
110A1 | 14 16 19 22 24 - - — — _— _— _ | 110 | 130 | 140 | 5 | M8x20 | 39.5 50
110B1 | 14 16 19 22 24 - - - — — - — | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
114A 14 16 19 22 24 28 32 35 38 42 45 48 [1143| 200 | 170 | 65 | M12x25 | 69.5 | 80
130A |14 16 19 22 24 - - - - _— _— _— 1130 | 165 | 140 | 5 | M10x20 | 39.5 | 50
130A1 | 14 16 19 22 24 28 32 - - — — — [ 130 | 165 | 140 | 5 | M10x20 | 49.5 | 60
180A |14 16 19 22 24 28 32 - - - — — | 180 | 215 | 190 | 65 | M14x25 | 49.5 | 60
180A1 | 14 16 19 22 24 28 32 35 38 42 45 48 | 180 | 215 | 190 | 65 | M14x25 | 69.5 | 80

FM
Yo}
L3 © 7 < L2
S a =S =
[ A
lt
E B I B 8 I ¢ T T T T N |
il 7 e
b & 1
L4 -
L
T
b (L D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 16 48 130 142.5 M8x14 M6 455 275 6 20 14.5
19 51 130 142.5 M8x14 M6 455 27.5 6 20 16.5
22 24 56.5 130 142.5 M8x14 M6 47 29 6 20 19
28 67 130 142.5 M8x14 M8 47 29 6 20 22.5
32 71 130 142.5 M8x14 M8 47 29 6 20 24.5
35 73 130 142.5 M8x14 M8 54.5 36.5 6 25 26
38 775 130 142.5 M8x14 M8 54.5 36.5 6 25 28
42 92 130 142.5 M8x14 M10 60.5 40 6 25 33
45 95 130 142.5 M8x14 M10 60.5 40 6 25 33
48 97 130 142.5 M8x14 M10 60.5 40 6 25 33
@ Bonfiglioli

44 Tecnoingranaggi



TR 190

N Jo [kgem?]
m‘ Mh2  Ma2 Mp2 nimax @Ps  @Pr (o R2max Azmax M {3
i [Nm] [Nm] [Nm] [min-'] [arcmin] ’%l [N] [N] % 14..24 28-32 35-35 42 45-48
TR1901_3 500 | 800 | 1400 | 2500 | 5' 3 130 |14000|15000| 97 | 24.20 | 24.88 | 25.65 | 29.30 | 29.90
TR1901_4 700 | 950 | 1800 | 3000 | 5' 3 130 |[14000|15000| 97 | 13.41 | 14.09 | 14.85 | 18.51 | 19.11
TR1901_5 700 | 950 | 1800 | 3000 | 5' 3 130 |14000 | 15000 | 97 9.32 10.00 | 10.77 | 14.42 | 15.02
TR 190 1_6 700 | 950 | 1800 | 3000 | 5' 3 130 |[14000 | 15000 | 97 2.88 3.56 4.33 7.98 8.58
TR1901_7 700 | 950 | 1800 | 3500 | 5' 3 130 |14000 | 15000 | 97 5.68 6.36 713 | 10.78 | 11.38
TR 190 1_10 500 | 800 | 1400 | 3500 | 5' & 130 |14000 | 15000 | 97 3.57 4.25 5.02 8.67 9.27
TR 1902 9 500 | 800 | 1400 | 2500 | 5' & 100 |14000 15000 | 94 | 23.23 | 23.91 | 24.67 | 28.33 | 28.93

TR 190 2_12 1000 | 1200 | 2200 | 2500 | 5' & 100 |14000 15000 | 94 | 22.03 | 22.71 | 23.48 | 27.13 | 27.73
TR 190 2_15 1000 | 1200 | 2200 | 2500 | 5' & 100 |[14000|15000| 94 | 21.58 | 22.25 | 23.02 | 26.68 | 27.27
TR 190 2_16 1000 | 1200 | 2200 | 3000 | &' 3 100 | 14000 | 15000 94 | 1219 | 12.86 | 13.63 | 17.29 | 17.89
TR 190 2_20 1000 | 1200 | 2200 | 3000 | &' 3 100 | 14000 | 15000 | 94 8.54 9.22 9.98 | 13.64 | 14.24
TR 190 2_25 1000 | 1200 | 2200 | 3000 | &' 3 100 | 14000 | 15000 | 94 8.37 9.05 9.82 | 13.48 | 14.07
TR 190 2_28 1000 | 1200 | 2200 | 3500 | &' 3 100 | 14000 | 15000 | 94 5.28 5.96 6.73 | 10.38 | 10.98
TR 190 2_30 500 | 800 | 1400 | 3500 | 5' 3 100 | 14000 | 15000 | 94 3.48 4.16 4.93 8.58 9.18
TR 190 2_35 1000 | 1200 | 2200 | 3500 | &' 3 100 | 14000 | 15000 | 94 5.20 5.87 6.64 | 10.30 | 10.90
TR 190 2_36 700 | 950 | 1800 | 3000 | 5' 3 100 | 14000 | 15000 | 94 2.18 2.86 3.63 7.28 7.88
TR 190 2_40 1000 | 1200 | 2200 | 3500 | 5' 3 100 | 14000 | 15000 | 94 3.37 4.05 4.82 8.48 9.07
TR 190 2_50 1000 | 1200 | 2200 | 3500 | 5' 3 100 | 14000 | 15000 | 94 3.33 4.01 4.78 8.44 9.03
TR 190 2_70 1000 | 1200 | 2200 | 3500 | 5' 3! 100 | 14000 | 15000 | 94 3.30 397 4.74 8.40 9.00
TR 190 2_100 500 | 800 | 1400 | 3500 | &' 3 100 | 14000 | 15000 | 94 3.28 3.95 4.72 8.38 8.98
TR 190 3_48 1000 | 1200 | 2200 | 3000 | 7' 5' 90 14000 | 15000 | 91 12.73 | 1340 | 1417 | 17.83 | 18.43
TR 190 3_64 1000 | 1200 | 2200 | 3000 | 7' & 90 14000 | 15000 | 91 12.10 | 12.78 | 13.55 | 17.21 | 17.80
TR 190 3_75 1000 | 1200 | 2200 | 3000 | 7' & 90 14000 | 15000 | 91 8.86 9.54 10.31 | 13.97 | 14.56
TR 190 3_80 1000 | 1200 | 2200 | 3000 | 7' & 90 14000 | 15000 | 91 12.09 | 12.76 | 13.53 | 17.19 | 17.79
TR 190 3_84 1000 | 1200 | 2200 | 3500 | 7' & 90 14000 | 15000 | 91 5.46 6.13 6.90 | 10.56 | 11.16
TR 190 3_90 500 | 800 | 1400 | 3500 | 7' & 90 14000 | 15000 | 91 3.47 4.15 4.92 8.57 9.17
el Pl 1000 | 1200 | 2200 | 3500 | 7' & 90 14000 | 15000 | 91 3.46 4.14 4.91 8.56 9.16
el A 1000 | 1200 | 2200 | 3000 | 7' & 90 14000 | 15000 | 91 8.34 9.01 9.78 | 13.44 | 14.04
el Bl 1000 | 1200 | 2200 | 3500 | 7' & 90 14000 | 15000 | 91 5.25 5.92 6.69 | 10.35 | 10.95
el 1000 | 1200 | 2200 | 3500 | 7' 5' 90 14000 | 15000 | 91 3.46 4.13 4.90 8.56 9.15
sl 1000 | 1200 | 2200 | 3500 | 7 5' 90 14000 | 15000 | 91 3.36 4.04 4.81 8.46 9.06
sl vaT ] 1000 | 1200 | 2200 | 3500 | 7' 5' 90 14000 | 15000 | 91 5.18 5.85 6.62 | 10.28 | 10.88
sl hl 1000 | 1200 | 2200 | 3500 | 7 5' 90 14000 | 15000 | 91 3.36 4.03 4.80 8.46 9.06
s lueiPA L 1000 | 1200 | 2200 | 3500 | 7 5' 90 14000 | 15000 | 91 3.45 4.13 4.90 8.55 9.15
sl 1000 | 1200 | 2200 | 3500 | 7 5' 90 14000 | 15000 | 91 3.32 4.00 4.77 8.42 9.02
sl 1000 | 1200 | 2200 | 3500 | 7 5! 90 14000 | 15000 | 91 3.29 3.97 4.74 8.39 8.99
s lueiELR 1000 | 1200 | 2200 | 3500 | 7 51 90 14000 | 15000 | 91 3.29 3.97 4.74 8.39 8.99
sl hl 1000 | 1200 | 2200 | 3500 | 7' 5] 90 14000 | 15000 | 91 3.27 3.95 4.72 8.38 8.97
sl 1000 | 1200 | 2200 | 3500 | 7' & 90 14000 | 15000 | 91 3.27 8195 4.72 8.38 8.97
oAl 1000 | 1200 | 2200 | 3500 | 7' & 90 14000 | 15000 | 91 3.27 8195 4.72 8.38 8.97
el LD 500 | 800 | 1400 | 3500 | 7' & 90 14000 | 15000 | 91 3.27 BI95 4.72 8.38 8.97

@ Bonfiglioli

Tecnoingranaggi 45



INDEX OF REVISIONS (R)

R2

Description

Sect 1.2 “Selecting the gear unit”:
- new selection procedure

Sect. 1.3 “Service life of bearings”:
- new calculation procedure

Sect 2 “Features of TR series”:
- updated the whole chapter

10

Sect 3 “Ordering code”:
- updated product designation

12...45

Sect. 5 “Dimensions and technical specifications”:
- new designation of motor adapters

120118

This publication supersedes and replaces any previous edition and revision. We reserve the right to implement modifications without notice.
This catalogue cannot be reproduced, even partially, without prior consent.

46

Bonfiglioli
COD TlR 0031 R2 @ Tecnoinggmaggi






&%) Bonfiglioli

power, control and green solutions

Bonfiglioli has been designing and developing innovative
and reliable power transmission and control solutions
for industry, mobile machinery and renewable energy
applications since 1956.

Bonfiglioli Riduttori S.p.A. tel: +39 051 647 3111
Via Giovanni XXIIl, 7/A fax: +39 051 647 3126
40012 Lippo di Calderara di Reno bonfiglioli@bonfiglioli.com

Bologna, Italy www.bonfiglioli.com





